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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2022 

First Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is book keeping? 

 PnUS £μõ©›¨¦ GßÓõÀ GßÚ? 

2. What do you understand the term Trial balance? 

 C¸¨£õ´Ä £ØÔ }Âº AÔÁx ¯õx? 

3. Write Short notes on Bank Reconciliation Statement. 

 Á[Q \›UPmk® £mi¯¼ß & ]Ö SÔ¨¦ ÁøμP. 

4. What do you mean adjusting entries? 

 \›UPmk® £vÄ GßÓõÀ GßÚ? 

5. What do you mean by endorsement of Bill? 

 ©õØÖa^mkPÎß ¦ÓUSÔ¨¦ ÁøμuÀ GßÓõÀ GßÚ? 

6. Define “Bills of Exchange”. 

 ©õØÖ ^mkUS C»UPn® u¸P. 

Sub. Code 
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7. What is consignment? 

 AÝ¨¥k GßÓõÀ GßÚ? 

8. What do you understand the term subscription? 

 \¢uõ £ØÔ }Âº AÔÁx ¯õx? 

9. What do you mean Fire Insurance? 

 w Põ¨¥mk GßÓõÀ GßÚ? 

10. What is Joint venture? 

 Cøn ÂøÚ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantages of Double Entry System? 

  Cμmøh¨£vÄ •øÓ°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Journalise the following transactions: 

Jan 1 Sold goods to Krishnan Rs.1,500 

 2 Paid Samy on account Rs. 1,100 

 4 Bought goods from Govind Rs.1,000 

 7 Received from Martin Rs.2,000 

 8 Ram purchased goods from us worth 

Rs.2,500 for cash 

 12 Paid Rajan his salary Rs.700. 
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  SÔ¨÷£mk £vÄPøÍz u¸P. 

áÚÁ›  1 Q¸ènÝUS ÂØÓ \μUS ¹.1,500 

        2 \õª°ß PnUQØS ö\¾zv¯x ¹. 1,100 

       4 ÷PõÂ¢vh® öPõÒ•uÀ ö\´ux ¹,1,000 

      7 ©õºiÛh® ö£ØÓx ¹.2,000 

    8 μõ® |®ªh® öμõUP öPõÒ•uÀ ö\´ux 

¹.2,500  

   12 μõáÝUS AÎzu \®£Í® ¹.700. 

12. (a) What are the errors not disclosed by Trial balance?  

  C¸¨¦a ÷\õuøÚ¨£mi¯À öÁÎ¨£kzuõu ¤øÇPÒ 

¯õøÁ? 

Or 

 (b) The following errors discovered in the Books of 

Madhan lal on 30th  September 2010 given that the 

difference in the Trial Balance of Rs. 1,300 was 

debited to the suspense account. Give journal 

entries with suspense account. 

  (i) The total of purchase book had been undercast 

by Rs.900. 

  (ii) Rs.470 paid for repairing machinery had been 

debited to machinery account. 

  (iii)  Cash Rs.325 received from Krishnan through 

entered in the cash book had not been posted 

to Krishnan account. 
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  ö\¨h®£º 30.2010 AßÖ ©uß »õÀ Gß£Á¸øh¯ 

¦zuPzvÀ RÌUPsh ¤øÇPÒ EÒÍÚ. C¸¨£õ´ÂÀ 

EÒÍ ÷ÁÖ£õk ¹.1,300 AÚõ©zx PnUQÀ £ØÖ 

øÁUP¨£mhx. C¨¤øÇPøÍ \› ö\´P. 

  (i) öPõÒ•uÀ ¦zuPzvß ö©õzu® ¹.900 SøÓÁõP 

Tmh¨£mkÒÍx. 

  (ii) ¹.470 C¯¢vμzvß £Êx }USÁuØPõP 

ö\»Âh¨£mhx C¯¢vμU PnUQÀ £ØÖ 

GÊu¨£mkÒÍx. 

  (iii) Q¸ènÛhª¸¢x ¹.325 ÁμÄ Á¢ux. öμõUP¨ 

¦zuPzvÀ £v¯¨£mhõ¾® Q¸ènß PnUQÀ 

£v¯¨£hÂÀø». 

13. (a) Write the difference between Bills of Exchange and 
Promissory Note. 

  ©õØÖa^mk ©ØÖ® EÖvö©õÈ £zvμ® ÷ÁÖ¨£kzxP. 

Or 

 (b) On 1st May 2009, Madhan accepted a two months 
bill for Rs. 10,000 drawn on him by Mani for the 
latter’s benefit. Mani discounted the bill of 4th May 
@ 12% p.a. and on the due date sent Madhan a 
cheque for Rs. 10,000 in order to enable him to 
honour the bill. Madhan duly honoured his 
acceptance. Pass journal entries in the books of 
Mani and Madhan. 

  1.5.2009AßÖ v¸.©uß Gß£Áº, v¸.©o Áøμ¢u 2 

©õu ©õØÖa^møh (¹.10,000) HØÖU öPõshõº. ©o 

AuøÚ 4.5.09 AßÖ 12‰ Ai¨£øh°À Á[Q°À 

Ámh® ö\´uõº. ¤ß ©uÝUS ¹.10,000 ö£Ö©õÚ 

Põ÷\õø» AÝ¨¤Úõº. E›¯ ÷|μzvÀ £n® 

öPõkUP¨£mhx. C¸Áμx PnU÷PkPÎ¾® £vÄ 

ö\´P. 

14. (a) Distinguish between the Receipt and Payment 
account and Income and Expenditure account. 

  ÁμÄ ö\»Ä PnUS ©ØÖ® ö£ÖuÀ ö\¾zxuÀ 

PnUQØS® EÒÍ ÷ÁÖ£õmiøÚ SÔ¨¤kP. 

Or 
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 (b) From the following particulars prepare receipts and  
payments a/c. Find out closing bank balance. 

 Rs.  Rs.

Cash in hand (1.4.2008) 100 Rent paid 400

Cash at Bank (1.4.2008)   500 General expenses   210

Subscription received 3,300 Postage    70

Donation received   260 Sundry expenses     30

Investment purchased 1,000 Cash in hand  
(31.3.2009) 

    20

  RÌUPsh Â£μ[PøÍU öPõsk ö£ÖuÀ ©ØÖ® 

ö\¾zuÀ PnUQøÚ u¯õº ö\´P. 

 ¹.  ¹.

øP°¸¨¦ öμõUP® (1.4.2008) 100 ÁõhøP 400

Á[Q°¸¨¦ (1.4.2008)   500 ö£õxö\»Ä 210

ö£ØÓ \¢uõ 3,300 Ag\À ö\»Ä    70

|ßöPõøh ö£ØÓx   260 Cuμ ö\»ÄPÒ    30

•u½kPÒ Áõ[Q¯x 1,000 øP°¸¨¦ öμõUP®

(31.3.2009) 

    20

15.  (a) Write a short notes on sale or return basis. 

  ÂØ£øÚ AÀ»x v¸¨£® & ]Ö SÔ¨¦ ÁøμP, 

Or 
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 (b) X and Y entered into a joint venture agreeing to 
share profits equally and the following transactions 
look place. 

 Rs. 

X Purchased goods 8,000

Y Paid carriage and freight 500

Y Sold goods amounting to 6,000

Y Paid commission on sale 100

X Paid storage fees amounting to 200

X Sold remaining goods for 5,000

X paid commission and carriage 500

  Show Journal entries for the transactions in X’s 
books and the joint venture account. 

  X ©ØÖ® Y BQ÷¯õº CønÂøÚ°À ÷\º¢x u[PÍx 

»õ£[PøÍ \©©õP ¤›zxUöPõÒÁöuÚ J¨¦U 

öPõshÚº. RÌPõq® |hÁiUøPU |h¢÷uÔ¯x. 

 ¹. 

X \μUSPÒ Áõ[Q¯x 8,000

Y yUSU T¼ \zu® ö\¾zv¯x 500

Y ÂØ£øÚ ö\´u \μUSPÒ 6,000

Y ÂØ£øÚ «x uμS ö\¾zv¯x 100

X £shPU Põ¨¦Pmhn® ö\¾zv¯x 200

X «u•ÒÍ \μUSPøÍ ÂØÓx 5,000

X uμS ©ØÖ® T¼ ö\¾zv¯x 500

  X ß HkPÎÀ ÷©ØTÔ¯ |hÁiUøPPÐUS 

SÔ¨÷£kPÒ ©ØÖ® Cøn¤øÚU PnUøP²® 

Põs¤UP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following Trial Balance, prepare trading profit 
and loss account for the year ended 31.3.2012 and 
balance sheet as on that date. 

 Trial Balance 

Particulars Dr. Cr. 

Purchase 3,00,000 – 

Debtors 50,000 

Plant  5,60,000 

Creditors  20,000

Bank 90,000 

Rent 30,000 

Salaries 40,000  

Capital   8,00,000

Sales  5,00,000

Cash 40,000 

Stock 1,04,000 

Drawings 1,00,000 

Insurance 6,000 – 

13,20,000 13,20,000

 Adjustments:  

 (a) Closing stock value was Rs. 98,000  

 (b)  Salaries outstanding Rs.6,000  

 (c)  Rent paid in  advance Rs.4,000  

 (d)  Depreciation on plant at 10%  

 (e)  Bad debt written off Rs.5,000. 
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 RÌUPsh C¸¨£õ´ÂøÚU öPõsk Â¯õ£õμ PLS C»õ£ 

|mh PLS ©ØÖ® 31.3.2012 ; ÷uv¯ C¸¨¦ {ø»U 

SÔ¨¤øÚ u¯õ›UPÄ®. 

C¸¨£õ´Ä 

 Dr. Cr. 

öPõÒ•uÀ 3,00,000 – 

PhÚõÎPÒ 50,000 

C¯¢vμ® 5,60,000 

PhÜ¢÷uõº  20,000

Á[Q 90,000 

ÁõhøP 30,000 

\®£Í® 40,000  

‰»uÚ®  8,00,000

ÂØ£øÚ  5,00,000

öμõUP® 40,000 

C¸¨¦ 1,04,000 

Gk¨¦PÒ 1,00,000 

Põ¨¥k 6,000 – 

13,20,000 13,20,000

 \›UPmhÀPÒ : 

 (A) CÖv \μUQß ©v¨¦ ¹.98,000  

 (B) öPõk£hõ \®£Í® ¹.6,000 

 (C) •ßTmia ö\¾zv¯ ÁõhøP ¹.4,000 

 (D) ö£õÔ ÁøP «x ÷u´©õÚ® 10%. 

 (E) ¹.5,000 ÁμõUPhß ÷£õUöPÊxP. 
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17. Madurai Somu & Co. consigned 50 cases or goods @  
Rs. 200 each to Chennai Nathan & Co. Madurai Somu & 
Co. paid Rs. 200 as insurance and Rs. 300 as freight. 
Nathan & Co. sold the goods for Rs. 24,000 and paid Rs. 
520 for carriage and Rs. 130 for godown rent. Nathan & 
Co. is eligible for 4% commission on gross sales. Nathan 
& Co. sends cheque for the balance due. Draw journal 
entries and Nathan & Co. account the books of M/s. 
Madurai Somu & Co. 

 ©xøμ ÷\õ• Aßm ÷Põ 50 Pmk©® \μUSPøÍ Pmk JßÖUS 

¹.200 Ãu® ö\ßøÚ |õuß Aß ÷PõÂØS AÝ¨¥k ö\´ux. 

©xøμ ÷\õ• ÷Põ Põ¨¥hõP ¹.200 ® ÁõhøP¯õP ¹.300® 

ö\»Ä ö\´ux. |õuß Aßm ÷Põ \μUSPøÍ ¹.24,000 US 

ÂØÓuõPÄ®, Ási ÁõhøP ¹.520, Qmh[Q ÁõhøP 

¹.130US ö\»Ä ö\´uuõPÄ® ÂØ£øÚ PnUPÔUøP 

öu›Âzux. |õuß Aßm ÷Põ ö©õzu ÂØ£øÚ°À 4% PÈÄ 

ö£Ó uSv ö£ØÓÁº. |õuß Aßm ÷Põ «u•ÒÍ C¸¨¤ØPõÚ 

öuõøPø¯ Põ÷\õø»¯õP ö\¾zu¨£mhx. ©xøμ ÷\õ• 

Aßm ÷Põ ¦zuPzvÀ |õuß Aßm ÷PõÂß PnUS ©ØÖ® 

SÔ¨÷£mk¨ £vÄPøÍ u¸P. 

18. A fire occurred in the premises of X Ltd. On 10.10.2012. 
All stocks were destroyed except to the extent of 
Rs.66,200. From the following figures, ascertain the loss 
of stock suffered by the company. 

 Rs. 

Stock on 1.1.2011 1,00,000 

Purchases during 2011 2,05,000 

Sales during 2011 2,60,000 

Stock on 31.12.2011 85,000 

Purchase during 2012 upto the date of fire 2,12,200 

Sales during 2012 upto date of fire 2,49,000 
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 10.10.2012 AßÖ ¼ªöhm PmihzvÀ w Â£zx |h¢ux. 

¹.66,200 ö£Ö©õÚ \μUS Põ¨£õØÓ¨£mhx. RÌUPõq® 

uPÁÀ Ai¨£øh°À, Â£zvÀ ÷\u©øh¢u \μUQß 

©v¨ø£U PnUQkP. 

 ¹. 

1.1.2011 \μUQß ©v¨¦ 1,00,000

Bsk 2011 zvÀ öPõÒ•uÀ 2,05,000

Bsk 2011zvÀ ÂØ£øÚ 2,60,000

31.12.2011 \μUS ©v¨¦ 85,000

2012 w Â£zx |h¢u Áøμ öPõÒ•uÀ 2,12,200

÷©ØPsh Põ»zvÀ ÂØ£øÚ 2,49,000

19. From the following particulars prepare a bank 
reconciliation statement showing the balance as per bank 
pass book on 31.03.2013 

(a) Cheque for Rs.7,900 was paid into bank in March 
2013 but was credited only in April 2013. 

 (b) Cheque for Rs. 11,000 were issued in March 2013 
but were cashed in April 2013 only. 

 (c) A cheque for Rs. 1,000 which was received from a 
customer was entered in the bank column of the 
cash book in March 2013 but the same was paid into 
bank in April 2013 only. 

 (d) The pass book shows a credit Rs.2,500 for interest 
and a debit of Rs.500 for bank charges. 

 (e) The bank balance as per cash book was Rs.1,80,000 
on 31.3.2013. 
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 ¤ßÁ¸® Â£μ[PÎ¼¸¢x Á[Qa \›Pmk® £mi¯À 

u¯õ›zx 31.03.2013 ® |õøÍ¯ Á[Q ö\À¾¨¦zuPzvß 

C¸¨ø£ PõmkP. 

 (A) 2013 ©õºa &À Á[Q°À ö\¾zv¯ ¹.7,900 Põ÷\õø» 

2013 H¨μ¼À ÁμÄ øÁUP¨£mhx. 

 (B) 2013 ©õºa &À öPõkzu Põ÷\õø» ¹.11,000 H¨μ¼À 

2013 &À öμõUP©õUP¨£mhx. 

 (C) 2013 ©õºa &À ÁõiUøP¯õÍ›h® ö£ØÓ ¹.1,000 UPõÚ 

Põ÷\õø» öμõUP¨¦zuPzvß Á[Q £zv°À 

£v¯¨£mk, BÚõÀ Á[Q°À ö\¾zu¨£mhx. 

 (D) ö\À¾¨¦zuP® ÁmiUS ¹.2,500 ÁμÄ®, 

Á[QUPmhnzvØS ¹.500 £ØÖ® Põmi¯x. 

 (E) 31.03.2013 AßøÓ¯ öμõUP® ¦zuPzvß £i Á[Q 

C¸¨¦ ¹.1,80,000. 

20. On 1st May 2009, Madhan accepted a two months bill for 
Rs. 10,000 drawn on him by Mani for the latter’s benefit. 
Mani discounted the bill of 4th May @12% p.a. and on the 
due date sent Madhan a cheque for Rs. 10,000 in order to 
enable him to honour the bill. Madhan duly honoured his 
acceptance. Pass journal entries in the books of Mani and 
Madhan. 

 On 1st January Daniel supplied goods of James to the 
value of Rs. 9,000 and settled the account by means of 
three bills of exchange for Rs.3,000 each due respectively 
after two, three and four months. A week later Daniel 
discounted the first bill with his bank at a discount of 
Rs.60 he held the other bills. 

 The first two bills were paid at maturity. On the date of 
maturity of the third one James arranged to retire the 
bill paying Rs. 1,000 in each and giving Daniel a fresh bill 
for four months to cover the balance with interest at the 
rate of 6% per annum. Daniel discounted this bill for  
Rs. 1,920 Set out the journal entries in the books of 
Daniel. 
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 ÷© 1, 2009 AßÖ ©o Gß£Áº ©uß Gß£Á¸US Cμsk 

©õu® ©vUPzPUP ¹.10,000 ©v¨¦ÒÍ ©õØÓa^møh 

Áøμ¢uõº. AuøÚ ©uß HØÖU öPõshõº. ÷© 4 B® ÷uv 

©o ©õØÖa^møh 12% uÒÐ£i ö\´uõº. ©uß {¾øÁ 

÷uv°À ¹.10,000 vØPõÚ ö\À»zuUP HØÖU öPõÒÍUTi¯ 

Põ÷\õø»ø¯ AÝ¨¤Úõº. ©o ©ØÖ® ©uß ¦zuP[PÎÀ 

SÔ¨÷£mk £vÄPøÍ u¸P. 

 áÚÁ› 1&® ÷uv ÷hÛ¯À ¹.90,000 ©v¨¤»õÚ \μUSPøÍ 

÷á®ìUS AÝ¨¤Úõº. •øÓ Cμsk ‰ßÖ ©ØÖ® |õßS 

©õu[PÎÀ •vºÁøhU Ti¯ ¹.3,000 &UPõÚ ‰ßÖ 

©õØÖa^mkPÒ öPõkUP¨£mk PnUS •iUP¨£mhx. J¸ 

ÁõμzvØS ¤ß •uÀ ©õØÖa^møh ¹.60&US Ámh® ö\´x 

÷hÛ¯À AÁμx Á[Q°À £n® ö£ØÓõº. ©ØÓ 

©õØÖa^mkPøÍ øÁzxU öPõshõº. 

 •vºÄ |õÎÀ •uÀ Cμsk ©õØÖa^mkPÒ 

£n©õUP¨£mhÚ. ‰ßÓõÁx ©õØÖa^miß •vºÄ |õÎÀ 

÷á®ì ¹.1,000 ö\¾zv ‰ßÓõÁx ©õØÖa^møh v¸®£ 

ö£ØÖU öPõsk «v öuõøPUS BskUS 6% Ámi Ãu® 

÷\ºzx |õßS ©õuzvØS J¸ ¦v¯ ©õØÖa^møh v¸®£ 

ö£ØÖU öPõsk «v öuõøPUS BskUS 6% Ámi Ãu® 

÷\ºzx |õßS ©õuzvØS J¸ ¦v¯ ©õØÖa^møhU 

öPõkzuõº. ÷hÛ¯À C¢u ©õØÖa^møh Ámh® ö\´x 

¹.1,920 ö£ØÓõº. ÷hÛ¯À Eøh¯ ¦zuP[PÎÀ 

SÔ¨÷£mk¨ £vÄPøÍ Põs¤UPÄ®. 

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2022 

Second Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is single entry system? 

 JØøÓ¨£vÄ •øÓ GßÓõÀ GßÚ? 

2. Give the meaning for net worth method. 

 {Pμ ©v¨¦ •øÓ°ß ö£õ¸øÍ u¸P.  

3. What is dependent branch? 

 \õº¢v¸US® QøÍ GßÓõÀ GßÚ? 

4. State the meaning of departmental accounts. 

 xøÓPÎß PnUQ¯À GßÓ ö\õÀ¼ß ö£õ¸øÍ u¸P. 

5. Who are preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõº Gß£Áº ¯õº? 

6. What do you understand about unsecured creditors? 

 £xPõ¨£ØÓ PhÜ¢÷uõº £ØÔ } AÔÁÚ ¯õøÁ? 

Sub. Code 
7BCS2C2 
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7. Define Hire purchase. 

 ÁõhøP öPõÒ•uÀ Áøμ¯Ö. 

8. What is instalment accounts? 

 uÁøn PnUS GßÓõÀ GßÚ? 

9. What do you understand by Recoupment? 

 (ŸUT¨ö©sm) v¸®£¨ ö£ÖuÀ GßÓõÀ GßÚ? 

10. Give the meaning of shortworking. 

 £ØÓõUSøÓ v¸®£ö£ÓÀ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write the merits of single entry system. 

  JØøÓ¨£vÄ •øÓ°ß {øÓPøÍ ÂÁ›. 

Or 

 (b) From the following ascertain profit or loss. 

Capital at the beginning – 12,00,000 

Capital at the end – 13,50,000 

Additional capital introduced during the year – 
1,70,000 

Drawings during the year – 1,40,000 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£® AÀ»x |èh® 
PnUQhÄ® 

  Bsk öuõhUPzvÀ •uÀ & 12,00,000 

  Bsk CÖv°À •uÀ & 13,50,000 

  AÆÁõsiÀ öPõsk Á¢u TkuÀ •uÀ & 1,70,000 

  AÆÁõsiÀ Gk¨¦PÒ& 1,40,000. 



F–8002 

  

   3

12. (a) The following information relates to Madurai 
branch. 

  Stock on 1/1/2018 – 11,200 

  Branch debtors 1/1/2018 – 6,300 

  Goods sent to branch – 51,000 

  Cash sent to branch for : 

  Rent – 1,500 

  Salaries – 3,000 

  Petty expenses – 500 

  Sales at branch : 

  Cash sales – 25,000 

  Credit sales – 39,000 

  Cash received from debtors – 41,200 

  Stock on 31/12/2018 – 13,600 

  Prepare branch a/c for the year 2018. 
  R÷Ç uμ¨£mkÒÍ uPÁÀPÒ ©xøμ QøÍ²øh¯x 

  \μUS 1/1/2018&11,200 

  1.1.2018 À QøÍ PhÚõÎPÒ&6,300 

  QøÍUS AÝ¨¤¯ \μUS & 51,000 

  QøÍUS R÷Ç uμ¨£mkÒÍ ö\»ÄPÒ 
AÝ¨£¨£mhx 

  ÁõhøP & 1,500 

  \®£Í® & 3,000 

  ]À»øμ ö\»Ä & 500 

  QøÍ°À ÂØ£øÚ 

  öμõUP® & 25,000 

  Phß & 39,000 

  PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 41,200 

  31.12.2018 CÀ \μUS C¸¨¦ & 13,600 

  2018 B® BsiØPõÚ QøÍ PnUS u¯õº ö\´P. 

Or 
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 (b) X Ltd of Mumbai has a branch in Delhi from the 
following, prepare branch stock a/c under stock and 
debtors system 

Goods sent from H.O. 50,000 

Return to H.O. 1,000 

Cash sales 35,500 

Cash from debtors 8,000 

Opening stock 10,000 

Closing stock 11,000 

  •®ø£°À EÒÍ X ¼ªöhm iÀ¼ QøÍ°À C¸¢x 
öPõkzxÒÍ ÂÁμ[PøÍ öPõsk \μUQ¸¨¦ ©ØÖ® 
PhÚõÎPÒ •øÓ°À PnUSPøÍ u¯õ›UPÄ®. 

uø»ø© A¾Á»P® \μUQ¸¨¦ AÝ¨¤¯x  50,000 
uø»ø© A¾Á»P® v¸¨¤¯ \μUQ¸¨¦ 1,000 
öμõUP ÂØ£øÚ 35,500 
PhÚõÎ°h® ö£ØÓ öμõUP® 8,000 
öuõhUP \μUQ¸¨¦ 10,000 
CÖv \μUQ¸¨¦ 11,000 

13. (a) What are preferential creditors in the following 
liabilities of insolvent Bhupesh according to 
Presidency Town insolvency act ? 
Particulars 
3 months salary for 10 clerks – 3,600 
One month wages of 12 labours – 1,600 
Sales tax – 400 
3 months rent of landlord 600 
Income tax 1,000 
Wages of four servant 1,400 
Salaries – 1,000 
Municipal tax 400 
Wages 6,000  
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  ©õ{» |Pμ ö|õia \mh® ©ØÖ® ©õPõn ö|õi \mh® 
BQ¯ÁØÔß £i ö|õizuÁμõÚ ¦Á÷Úæß 
¤ßÁ¸® ö£õÖ¨¦PÎÀ •ßÝ›ø© Phß 
ÁÇ[S£ÁºPÒ GßÚ?  

  ÂÁμ[PÒ 

  10 GÊzuõÍºPÐUS 3 ©õu \®£Í® & 3,600 

  12 öuõÈ»õÍºPÎß J¸ ©õu Fv¯® 1,600 

  ÂØ£øÚ Á› 400,  

  Ãmk E›ø©¯õÍ›ß 3 ©õu ÁõhøP 600 

  Á¸©õÚ Á› 1,000 

  |õßS ÷Áø»¯õmPÎß Fv¯® 1,400 

  \®£Í® & 1,000,  

  |Pμõm] Á› 400,  

  T¼ 6,000 

Or 

 (b) A merchant became insolvent on 1/1/92. On that 
date, his total assets were Rs. 7,500 and his 
liabilities Rs. 6,500 and the estimated deficiency of 
Rs. 2,000 before taking the following items into 
consideration 

(i) Interest on capital of Rs. 150 for one year at 
5% pa. 

(ii) Liability on bills discounted Rs. 300 on bills 
discounted by him Rs. 800 

(iii) Outstanding expenses for wages to be treated 
as preferential Rs. 240 

(iv) Loan from a friend Rs. 500 and a loan from his 
wife Rs. 200 

   Prepare a statement of affairs and deficiency 
a/c on the basis of data given below.  
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  J¸ ÁoPº 1.1.92 AßÖ ö|õizuÁº BÚõº. 
AÁ¸øh¯ ö©õzu ö\õzxUPÒ 7500 ©ØÖ® PhßPÒ 
¹. 6,500 ©ØÖ® ©v¨¤h¨£mh £ØÓõUSøÓ  
¹. 2,000 ¤ßÁ¸® ö£õ¸mPøÍ P¸zvÀ öPõsk 
{ø» AÔUøP ©ØÖ® SøÓ¨£õk PnUS u¯õº 
ö\´¯Ä®. 

  (i) ¹. 150 ‰»uÚzvß «uõÚ Ámi J¸ 
Á¸hzvØUS 5% 

  (ii) ¤ÀPÒ ö£õÖ¨¦ uÒÐ£i ö\´¯¨£mhx  
¹. 300, AÁº uÒÐ£i ö\´u ¤ÀPÎÀ öuõøP 
¹. 800 

  (iii) Fv¯zvØPõÚ {¾øÁ ö\»ÄPÒ •ßÝ›ø© 
¹. 240 BP P¸u¨£h ÷Ásk® 

  (iv) AÁ¸øh¯ |s£›h® C¸¢x ¹. 500 ®, 
AÁ¸øh¯ ©øÚÂ°h® C¸¢x ¹. 200 ® 
PhÚõP ö£Ó¨£mhx. 

14. (a) A company leased a colliery on 1/1/2012 at a 
minimum rent of Rs. 20,000 merging into a royalty 
of Rs. 1.50 per tonne with power to recoup short 
working over the first four years of the lease. The 
output of colliery for the first four years was 9,000 
tonnes, 12,000 tonnes, 16,000 tonnes and 20,000 
tonnes respectively. Give necessary journal entries 
in the books of leasee. 

  J¸ {ÖÁÚ® 1.1.2012 AßÖ SzuøPUS Gkzux, 
SøÓ¢u£m\ ÁõhøP ¹. 20,000 μõ¯Ài²hß ¹. 1.50 
SzuøP°À •uÀ |õßS BskPÎÀ SÖQ¯ 
÷Áø»PøÍ v¸®£¨ ö£Ö® AvPõμzxhß 
CønQÓx. •uÀ |õßS BskPÎÀ ÷Põ¼¯›°ß 
EØ£zv •øÓ÷¯ 9000 hßPÒ, 12000 hßPÒ, 16000 
hßPÒ, 20000 hßPÒ •øÓ÷¯. SzuøPuõμº 
¦zuP[PÎÀ SÔ¨÷£k £vÄ u¸P. 

Or 
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 (b) Mining Co. Ltd. obtained on 1/1/2000 from landlord 
a lease of coal mine, the terms being a royalty of  
Re. 0.50 per ton of coal raised subject to a minimum 
rent of Rs. 4,000 per annum with a right of 
recoupment of shortworking over the first  

  The output for the five years is as follows. 

Year Mining Company tonnes 

2000 4,400 

2001 4,640 

2002 5,200 

2003 5,600 

2004 7,200 

  Prepare Royalty A/c. 

  ø©Û[ P®ö£Û ¼ªöhm 1.1.2000 AßÖ {»UP› 
_μ[Pzøu SzuøPUS {» E›ø©¯õÍ›h® C¸¢x 
SzuøPUS Gkzux. Cuß Âv•øÓPÒ J¸ hß 
{»UP›US μõ¯Ài ‰»® ¹.0.50 SzuøP¯õP 
E¯ºzu¨£k®. BskUS •u¼À SøÓ¢u£m\® 
¹.4,000 ÁõhøPUS Em£mhx. 

Á¸h® hß 

2000 4,400 

2001 4,640 

2002 5,200 

2003 5,600 

2004 7,200 

  μõ¯Ài PnUøP u¯õº ö\´¯Ä®. 
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15.  (a) Sundar sells goods in hire purchase system at cost 
plus 60%, from the following prepare hire purchase 
trading a/c. 1/1/2017 goods out on hire purchase 
system at hire purchase price is Rs. 32,000.  
On 31/12/2017 installment not due and unpaid is  
Rs. 72,000 and installment due and unpaid is  
Rs. 4,000. Goods sold on hire purchase price is 
1,60,000; cash recovered from customer is  
Rs. 1,12,000; Goods received back on default valued 
at is Rs. 800. (installment due Rs. 4,000) 

  _¢uº ÁõhøP öPõÒ•uÀ •øÓ°À TkuÀ AhUP 
Âø» 60% Ai¨£øh°À ö£õ¸mPøÍ ÂØQÓõº. 
¤ßÁ¸® uPÁÀ Ai¨£øh°À ÁõhøP öPõÒ•uÀ 
ÁºzuPU PnUøP u¯õ›UP. 1.1.2017 ö£õ¸mPÒ 
ÁõhøP öPõÒ•uÀ •øÓ°À öPõÒ•uÀ Âø» 
¹.32,000 BS®. 31.12.2017 AßÖ uÁøn 
ö\¾zu¨£hõux ©ØÖ® £õUQ öuõøP ¹.72,000 
©ØÖ® uÁøn £õUQ ©ØÖ® ö\¾zu¨£hõu ¹.4,000. 
ÁõhøP öPõÒ•uÀ Âø»°À ÂØP¨£k® 
ö£õ¸mPÒ ¹.1,60,000; ÁõiUøP¯õÍ›hª¸¢x 
«mP¨£mh £n® ¹.1,12,000. C¯À¦{ø»°À 
v¸®£¨ ö£Ó¨£mh ö£õ¸mPÎß ©v¨¦ ¹.800. 
(uÁøn ö\¾zu ÷Ási¯x ¹.4,000). 

Or 

 (b) ABC Co purchased a typewriter on hire purchase 
system. As per term they are required to pay Rs. 
800 down, Rs. 400 at the end of the first year Rs. 
300 at the end of second year and Rs. 700 at the end 
of third year. Interest is charged at 5% p.a. 
Calculate the total cash price of the typewriter and 
the amount of interest payable on each installment. 

  ABC Co J¸ umha_¨ö£õÔø¯ ÁõhøP öPõÒ•uÀ 
•øÓ°À Áõ[Q¯x. Âv•øÓPÎß £i AÁºPÒ  
¹. 800 •u¼À ö\¾zv, ¹. 400 •uÀ Bsk 
•iÂÀ, ¹. 300 Cμshõ® Bsk •iÂÀ ¹. 700 
‰ßÓõ® Bsk •iÂÀ ö\¾zu£h÷Ásk®. Ámi 
5% p.a. umha_¨ö£õÔ°ß ö©õzu öμõUP 
Âø»ø¯²® JÆöÁõ¸ uÁønUS® ö\¾zu 
÷Ási¯ Ámiz öuõøPø¯²® PnUQk[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Ramesh and Kumar are equal partners in when the 
books are kept by single entry system. Their position on 
1/7/2004 was as under : 

Particulars Amount Particulars Amount 

Bills payable 12,400 Cash 540

Creditors 40,000 Bank 27,760

Capital a/c Ramesh 1,60,000 Bills receivable 9,200

Kumar 1,60,000 Debtors 97,300

  Stock 67,600

  Plant 1,60,000

  Furniture 10,000

 3,72,400  3,72,400

 On 30/6/2005 plant was depreciated by 10%, drawings 
made by Ramesh is 20,000 and Kumar is Rs. 16,000. The 
following was the state of affairs. 

Particulars Amount 

Cash 800 

Bank 31,600 

Creditors 42,400 

Stock 73,400 

Debtors 1,32,600 

Bills payable 1,200 

Bills receivable 17,600 

 Ascertain the profits for the year ended 30/6/05 and 
statement of affairs as on that date. Prepare capital a/c of 
partners. 
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 μ÷©è ©ØÖ® S©õº C¸Á¸® \© £[SuõμºPÒ. CvÀ 
¦zuP[PÒ JØøÓ £vÄ ©õØÖ •øÓ°À 
øÁUP¨£mkÒÍx 1.7.2004 AßÖ AÁºPÎß {ø» 
¤ßÁ¸©õÖ. 

ÂÁμ[PÒ öuõøP ÂÁμ[PÒ öuõøP

ö\¾zu ÷Ási¯   öμõUP® 540

¤ÀPÒ 12,400 Á[Q 27,760

Phß   ¤ÀPÒ ö£ÓzuUPøÁ 9,200

öPõkzuÁºPÒ 40,000 PhÚõÎPÒ 97,300

‰»uÚ®&μ÷©è 1,60,000 £[S 67,600

S©õº 1,60,000 Bø» 1,60,000

  ©μa\õ©õßPÒ 10,000

   

   

 3,72,400  3,72,400

 30.6.2005 AßÖ Bø» «x 10% ©v¨¤Ç¢uÚ. μ÷©è 
20,000 ö\õ¢u ÷uøÁUS Gkzuõº ©ØÖ® S©õº 16,000 
Gkzuõº. ¤ßÁ¸ÁÚÁØÔÀ {ø» C¸¢ux. 

ÂÁμ[PÒ öuõøP 

öμõUP® 800 

Á[Q 31,600 

PhÜ¢÷uõºPÒ 42,400 

£[S 73,400 

PhÚõÎPÒ 1,32,600 

ö\¾zu ÷Ási¯ ¤ÀPÒ 1,200 

ö£ÓzuUP ¤ÀPÒ 17,600 

 30.6.2005 CÀ •iÁøh¢u BsiØPõÚ »õ£zøu²® A¢u 
÷uv°¾ÒÍ ÂÁPõμ AÔUøPø¯²® PshÔ¯Ä®. 
TmhõÍºPÎß ‰»uÚU PnUSPøÍ u¯õ›UPÄ®. 
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17. Trading and profit and loss a/c of Janaki Radio and 
Gramophone equipment Co. for the six month ended 
31/3/2003 is presented to you in the following forms. 

Purchases Amount Sales Amount

Radio 1,40,000 Radio 1,50,000

Gramophone 90,600 Gramophone 1,00,000

Spare parts 64,400 Spare parts 25,000

Salaries 48,000 Stock on 31/3/03

Rent 11,500 Radio 60,000

Sundry expenses  11,000 Gramophone 20,400

Profit 34,500 Spare parts 44,600

 4,00,000  4,00,000

 Prepare departmental account for each of the three 
departments after taking into account the following  

 (a) Radio and Gramophone are sold at the show room 
and spare parts are at work shop. 

 (b) Salaries comprise as follows : showroom ¾ and 
workshop ¼. It was decided to allocate the 
showroom salaries in the ratio of 1 : 2 between 
department Radio and Gramophone. 

 (c) The work shop rent is Rs. 500 per month.  
The rent of showroom is to be divided equally 
between the department Radio and Gramophone. 

 (d) Sundry expenses are to be allocated in the basis of 
the turnover of each department.  
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 áõÚQ ÷μi÷¯õ ©ØÖ® Qμõ©÷£õß ö£õ¸mPÒ 
{ÖÁÚzvß ÁºzuP® ©ØÖ® »õ£ |èh PnUS  
31.3.2003 CÀ •iÁøh¢u BÖ ©õuzvØS ¤ßÁ¸® 
£iÁ[PÎÀ E[PÐUS ÁÇ[P¨£kQÓx 

öPõÒ•uÀ öuõøP ÂØ£øÚ öuõøP 

÷μi÷¯õUPÒ 1,40,000 ÷μi÷¯õUPÒ 1,50,000

Qμõ©÷£õßPÒ 90,600 Qμõ©÷£õßPÒ 1,00,000

Ev› £õP[PÒ 64,400 Ev›£õP[PÒ 25,000

\®£Í® 48,000 31/3/03 AßÖ £[S

ÁõhøP 11,500 ÷μi÷¯õUPÒ 60,000

]À»øÓ ö\»Ä 11,000 Qμõ© ÷£õßPÒ 20,400

»õ£® 34,500 Ev›£õP[PÒ 44,600

 4,00,000  4,00,000

 ¤ßÁ¸ÁÚÁØøÓU PnUQÀ Gkzx öPõsk 
SÔ¨¤h¨£mh ‰ßÖ xøÓPÎÀ JÆöÁõßÔØUS® 
xøÓÁõ› PnUøP u¯õ›UPÄ®. 

 (A) ÷μi÷¯õ ©ØÖ® Qμõ©÷£õß ÷åõ¹®PÎÀ 
ÂØP¨£kQßÓÚ ©ØÖ® Ev›£õP[PÒ JºUåõ¨ 
ÂØP£kQßÓÚ 

 (B) \®£Í® ¤ßÁ¸©õÖ : ÷åõ¹®PÒ 3/4 ©ØÖ® 
JºUåõ¨&1/4& ÷åõ¹® \®£Ízøu ÷μi÷¯õ ©ØÖ® 
Qμõ©÷£õßPÒ xøÓPÐUS Cøh÷¯ 1:2 GßÓ 
ÂQuzvÀ JxUP •iÄ ö\´¯¨£mhx. 

 (C) JºU åõ¨ ÁõhøP ¹. 500 ©õu®. ÷åõ¸ªß ÁõhøP 
÷μi÷¯õ ©ØÖ® Qμõ©÷£õß xøÓPÐUS Cøh÷¯ 
\©©õP ¤›UP ÷Ásk®. 

 (D) JÆöÁõ¸ xøÓ°ß Á¸Áõ°ß Ai¨£øh°À 
£À÷ÁÖ ]À»øÓ ö\»ÄPÒ JxUP¨£h ÷Ásk®. 
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18. From the following particulars. Prepare the statement of 
affairs and deficiency account of Mohan who is an 
insolvent debtors. 

 Unsecured creditors Rs. 30,100; credits partly secured  
Rs. 38,600 (holding security of the value Rs. 36,200 which 
is estimated to realise only Rs. 12,000) preferential 
creditors Rs. 1,000; bills receivable discounted Rs. 4,120 
(upon which it is estimated that there will be liability  
of Rs. 560; stock in trade Rs. 20,020 (estimated) to realise 
Rs. 16,000) book debts, goods Rs. 15,720; doubtful and 
bad Rs. 1,300 (estimated to realise Rs. 356) land and 
building Rs. 16,000 (estimated to realise Rs. 10,000) plant 
and machinery Rs. 25,000 (estimated to realise  
Rs. 11,000) cash in hand Rs. 4. He started business five 
year ago with capital of Rs. 50,000; The hading after 
charging interest on capital at Rs. 2,000 per year resulted 
in a profit of Rs. 1,204 for the first year and losses  
Rs. 740, Rs. 900, Rs. 1,000 and Rs. 1,400 for subsequent 
years. His drawings were at the rate of Rs. 1,800 a year 
and there was a speculation loss of Rs. 3,180 during the 
whole period of five years. 

 RÌUPsh ÂÁμ[PÎ¼¸¢x, ö|õiz÷uõº PhÚõÎ¯õÚ 
÷©õPÛß ÂÁμ[PÒ ©ØÖ® SøÓ¨£õk PnUøPz 
u¯õ›UPÄ®. 

 £õxPõ¨£ØÓ PhÚõÎPÒ 30,100 PhÚõÎPÒ KμÍÄ 
£zvμ©õP 38,600 (©v¨¦ £õxPõ¨¦ øÁzv¸¨£Áº 36,200 
¹£õ´ ©u¨¥miß£i 1200 ©mk®) •ßÝ›ø© 
PhÚõÎPÒ ¹£õ´ 1,000 ¤ÀPÒ ö£ÓzuUP uÒÐ£i ¹. 
4,120 (Auß «x Phß ö£õÖ¨¦ C¸US® GßÖ 
©v¨¤h¨£mkÒÍx) ¹£õ´ 560 ÁºzuP ¹£õ´ 20020 
(©v¨¥k ¹£õ´ 16,000) ¦zuP PhßPøÍ ö£õ¸mPÒ 
¹£õ´ 15,720 \¢÷uPzvØQh©õÚ ©ØÖ® ÁμõUPhßPÒ 
¹£õ´ 1,300 (EnºÄ ©v¨¥k ¹. 356) {»® ©ØÖ® 
Pmih® ¹£õ´ 16,000 (¹. 1,000 Áøμ 
©v¨¤h¨£mkÒÍx) Bø» ©ØÖ® C¯¢vμ[PÒ ¹£õ´ 
25,000 (¹£õ´ 11,000 Enμ ©v¨¤h¨£mkÒÍx) øP°À 
öμõUP® ¹. 4. AÁº 5 Á¸hzvØS •ß¦ 50,000 
‰»uÚzxhß Â¯õ£õμzøu Bμ®¤zuõº. ‰»uÚzvß «x 
Á¸hzvØS 2,000 ¹£õ´ Ámi Á`¼zu ¤ÓS •uÀ 
Á¸h® 1204 ¹£õ´ »õ£® ©ØÖ® 740, 900, 2000, ©ØÖ® 
1400 Akzu BskPÐUS |èh©õP C¸¢ux. AÁμx 
ö\õ¢u ö\»ÂØUS ¹. 1,800 ÃuzvÀ Bsk ©ØÖ® 5 
Á¸h[PÒ •ÊÁx® 3,180 ¹£õ´ FP CÇ¨¦ HØ£mhx.  
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19. Minerals Ltd leased a property from Mr. Janakiraman at 
a royalty of Rs. 1.50 per ton with minimum rent of Rs. 
20,000 per annum. Each year excess of minimum rent 
over royalties is securable out of royalty of next 5 years. 
In the extent of strike and the minimum rental not being 
reached, the lease agreement provided that the actual 
royalties earned for the year discharges all rental 
obligation for the year. The results of working of the 
property are given below : 

Year Actual royalty 

2008 Nil 

2009 6,600 

2010 18,000 

2011 22,200 

2012 28,000 

2013 30,000 

2014 Strike year 16,000 

2015 30,400 

 Prepare minimum rent a/c and royalty a/c. 

 ªÚμÀì ¼ªöhm J¸ ö\õzøu v¸. áõÚQμõ©ß 
Gß£Á›hª¸¢x J¸ hß JßÖUS ¹.1.50 SzuøP°À 
SzuøPUS Gkzux. BskUS SøÓ¢u£m\ ÁõhøP¯õP 
¹.20,000. JÆöÁõ¸ Bsk® SzuøPUS ÷©À 
SøÓ¢u£m\ ÁõhøPUS Akzu 5 BskPÐUPõÚ 
SzuøP°À C¸¢x £õxPõUP¨£k®. ÷Áø» {Özuzvß 
÷£õx SøÓ¢u£m\ ÁõhøPø¯ Gmhõu {ø»°À, SzuøP 
J¨£¢u®, BskUS Dmh¨£mh Esø©¯õÚ SzuøPPÒ 
A¢u BsiØPõÚ AøÚzx ÁõhøPUPøÍ 
{øÓ÷ÁØÖQÓx. ö\õzx £¯ß£õmk •iÄPÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. 

Bsk Esø©¯õÚ μõ¯Ài 

2008 – 

2009 6,600 

2010 18,000 
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Bsk Esø©¯õÚ μõ¯Ài 

2011 22,200 

2012 28,000 

2013 30,000 

2014 (÷Áø» {Özu Bsk) 16,000 

2015 30,400 

 SøÓ¢u£m\ ÁõhøPU PnUS, μõ¯Ài PnUøPz 
u¯õ›UPÄ®. 

20. On 1/1/2003 a firm purchased a truck on installment 
system. The cash price of the truck was Rs. 11,175 and 
payment was to be made as follows : 

 Rs. 3,000 was to be paid on signing of the agreement and 
the balance in three installment of Rs. 3,000 each at the 
end of each year. Interest at 5% is charged by the vendor. 
The firm has decided to write off 10% annually on the 
diminishing balance of the cash price. Calculate the 
amount of interest paid, Interest suspense account and 
trust account. 

 1.1.2003 AßÖ J¸ {ÖÁÚ® uÁøn •øÓ°À J¸ 
iμUøP Áõ[Q¯x. iμUQß öμõUP Âø» ¹. 11,175 ©ØÖ® 
¤ßÁ¸©õÖ ö\¾zu ÷Ásk®. J¨£¢uzvÀ 
øPö¯õ¨£ªmhÄhß ¹. 3,000 ö\¾zu ÷Ásk® ©ØÖ® 
«v ‰ßÖ uÁøn¯õP ¹. 3,000 JÆöÁõ¸ Á¸hzvß 
CÖv°À ö\¾zu£h ÷Ásk®. 5% Ámiø¯ 
ÂØ£øÚ¯õÍμõÀ Á`¼UP¨£kQÓx. öμõUP Âø»°ß 
SøÓzx Á¸® {¾øÁz öuõøP°À Bsk÷uõÖ® 10% 
uÒÐ£i ö\´¯ {ÖÁÚ® •iÄ ö\´xÒÍx. 
ö\¾zu¨£mh Ámi öuõøP, Ámi \ìö£Ûì PnUS 
©ØÖ® iμU PnUS BQ¯ÁØøÓ u¯õº ö\´¯Ä®. 

———————— 
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COMPANY LAW AND SECRETARIAL PRACTICE – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Memorandum of Association. 

 Aø©¨¦ •øÓ÷¯k Gß£øu Áøμ¯Ö. 

2. What is Certificate of incorporation? 

 Tmk¸ÁõUP® GßÓõÀ GßÚ? 

3. What is Abridged Prospectus? 

 _¸UP¨£mh uPÁ»ÔUøP GßÓõÀ GßÚ? 

4. What is information Memorandum? 

 Aø©¨¦ •øÓ÷¯miß uPÁÀ GßÓõÀ GßÚ? 

5. State the differences between share and stock. 

 £[S ©ØÖ® \μUS°øh÷¯ EÒÍ ÷ÁÖ¨£õkPøÍ TÖP. 

6. What Sweat Equity Shares? 

 EøÇ¨¦UPõÚ \õuõμn £[SPÒ GßÓõÀ GßÚ? 

Sub. Code 
7BCS3C1 
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7. State the liabilities of Company Secretary under 
Companies Act 2013. 

 {Ö© \mh® 2013 £i {Ö© ö\¯»›ß ö£õÖ¨¦PøÍ TÖP. 

8. Who is a Whole Time Company Secretary? 

 •Ê÷|μ {Ó©a ö\¯»º Gß£Áº ¯õº? 

9. State the rule for Acceptance of Deposits under Section 
76 of Companies Act, 2013. 

 {Ö©a\mh® 2013 ¤›Ä 76 RÌ øÁ¨¦PøÍ 
HØÖUöPõÒÐuÀ Gß£uß Âvø¯ TÖP. 

10. What is Debenture Redemption Reserve? 

 «ÒuS PhÜmk¨£zvμ JxURk GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the characteristics of Company. 

  {Ö©zvß Sn|»ßPøÍ ÂÍUSP. 

Or 

 (b) Under what circumstances the Corporate Veil of the 
Company will be lifted. 

  G¢u `Ì{ø»°À {ÖÁÚzvß ö£¸{ÖÁÚzvß 
GßÓ vøÓ APØÓ¨£kQÓx. 

12. (a) Explain Offer for Sale. 

  ÂØ£øÚ°ß \¾øP Gß£øu ÂÍUSP. 

Or 

 (b) Write short notes on :  

  (i)  Statement in lieu of Prospectus 

  (ii) Shelf Prospectus 

  ]Ö SÔ¨¦ u¸P: 

  (i) £v»õÚ uPÁ»ÔUøP  

  (ii) AkUP uPÁ»ÔUøP 
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13. (a) Discuss the various kinds of share capital. 

  £À÷ÁÖ ÁøP¯õÚ £[S•uÀPøÍ ÂÁõvUP. 

Or 

 (b) State the differences between Transfer and 
Transmission of shares. 

  £[SPÒ £›©õØÓ® ©ØÖ® £[SPÒ £μÄ®•øÓ 
EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

14. (a) Highlight the powers and duties of company 
Secretary. 

  {Ö©a ö\¯»›ß AvPõμ® ©ØÖ® Phø©PÎß ]Ó¨¦ 
A®\[PÒ ¯õøÁ? 

Or 

 (b) Sate the differences between Whole time and Part 
time Company Secretary. 

  •Ê÷|μ® ©ØÖ® £Sv ÷|μ {Ö©a ö\¯»õÍ›øh÷¯ 
EÒÍ ÷ÁÖ¨£õkPøÍ TÖP. 

15.  (a) Explain the provisions regarding acceptance of 
deposits. 

  øÁ¨¦zöuõøPPøÍ HØÖUöPõÒÁx öuõhº£õÚ 
ÂvPøÍ ÂÍUSP. 

Or 

 (b) Discuss the various kinds of debentures. 

  £À÷ÁÖ ÁøP¯õÚ PhÜmk¨ £zvμ[PøÍ 
ÂÁõvUP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enumerate the contents of Memorandum of Association. 

 Aø©¨¦ •øÓ÷¯miÀ EÒÍ EÒÍh[PøÍ ÂÁ›UP. 

17. Discuss the liability for Mis-statement in Prospectus 
under Companies Act, 2013. 

 {Ö©a\mh® 2013 £i uÁÓõÚ uPÁ»ÔUøPUPõP 
ö£õÖ¨¦PøÍ ÂÁõvUP. 

18. Explain the provisions for allotment of shares as per 
SEBI guidelines. 

 ö\¤°ß ÁÈUPõmku¼ß£i £[SPøÍ JxURk 
ö\´ÁuØPõÚ ÂvPøÍ ÂÁ›. 

19. Discuss the powers, duties and liabilities of Company 
Secretary. 

 {Ö©a ö\¯»›ß AvPõμ[PÒ, Phø©PÒ ©ØÖ® 
ö£õÖ¨¦UPøÍ ÂÁ›UP. 

20. Discuss the provisions regarding borrowing powers of a 
company under Companies Act, 2013. 

 {Ö©a\mh® 2013 £i {Ö©zvß Phß Áõ[S® 
AvPõμzvØPõP ÂvPøÍ ÂÁõvUP. 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is partnership? 
 Tmhõsø© GßÓõÀ GßÚ? 

2. What is capital ratio? 
 •uÀ ÂQu® GßÓõÀ GßÚ? 

3. What is fixed capital? 
 {ø» •uÀ GßÓõÀ GßÚ? 

4. What do you understand by ‘Admission’ of a new partner? 
 TmhõÎ ÷\ºUøP GßÓõÀ GßÚ? 

5. What is Hidden Goodwill? 
 ©øÓ•P |Øö£¯º GßÓõÀ GßÚ? 

6. What is sacrificing ratio? 
 v¯õP ÂQu® GßÓõÀ GßÚ? 

7. What is Gaining ratio? 
 Buõ¯ ÂQu® GßÓõÀ GßÚ? 
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8. What is Retirement of a partner? 
 TmhõÎ Â»PÀ GßÓõÀ GßÚ? 

9. What do you understand by ‘Insolvency of All Partners’? 
 AøÚzx TmhõÎPÒ ö|õi¨¦ {ø» GßÓõÀ GßÚ? 

10. Write short notes on Piece-meal Distribution. 
 xsk£QºÄ ÂQu® & ]ÖSÔ¨¦ ÁøμP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a difference between ‘Fixed’ and ‘Fluctuating 
Capital’. 

  {ø» •u¾US®, ©õÖ£k® •u¾UPõÚ ÷ÁÖ£õkPøÍ 

GÊxP. 

Or 

 (b) What is minimum Guarantee and explain its 
various method? 

  SøÓ¢u AÍÄ EzuμÁõu® GßÓõÀ GßÚ? Auß 

ÁøPPøÍ ÂÁ›UPÄ®. 

12. (a) A and B started business on 1st January 1992 with 
Rs. 32,000 and Rs. 20,000 as capital respectively. 
They agree to share profit in the capital ratio. From 
the following details, calculate capital ratio. 
 Capital Introduced Capital withdrawn 

 A (Rs.) B (Rs.) A (Rs.) B (Rs.) 

1st March 7,000 –– –– –– 

1st April –– 22,000 10,000 –– 

1st June 13,000 –– –– 19,000 

30th September –– 25,000 25,000 –– 
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  1 áÚÁ› 1992,  A ©ØÖ® B  ¹.32,000 ©ØÖ® ¹.20,000 

Ehß öuõÈÀ öuõh[QÚõº, AÁºPÒ •uÀ ÂQuzvÀ 

C»õ£zøu £Qμ Ehß £mhÚº, ¤ßÁ¸® ÂÁμ[PøÍ 

øÁzx •uÀ ÂQuzøu u¯õ›UPÄ®. 

 •uÀ öPõskÁ¢ux •uÀ GkUP¨£mhx

 A (¹.) B (¹.) A (¹.) B (¹.) 

1 ©õºa 7,000 –– –– –– 

1 H¨μÀ –– 22,000 10,000 –– 

1 áúß 13,000 –– –– 19,000 

30 ö\¨h®£º –– 25,000 25,000 –– 

Or 

 (b) X, Y, Z sharing profit and losses equally have 
capitals of Rs. 2,40,000, Rs. 1,80,000, Rs. 1,20,000. 
For the year 1990, Interest was credited to them at 
6% Instead of 5%. Give their pasts adjustment 
journal entry. 

  X, Y, Z TmhõÎPÒ AÁºPÐøh¯ C»õ£, |mh[PøÍ 

\©©õP £Qº¢x öPõÒQßÓÚº. AÁºPÐøh¯ •uÀ 

•øÓ÷¯ ¹. 2,40,000, ¹. 1,80,000, ¹. 1,20,000. 1990&® 

BskPõÚ Ámi 5% øÁ¨£uØS £v»õP 6% ©õP ÁμÄ 

øÁUP¨£mkÒÍx. CuØPõÚ ¤¢øu¯ \›Pmkuø» 

SÔ¨÷£hõP u¸P. 

13. (a) A and B are partners in a firm sharing profits in the 
ratio of 3 : 2. They surrender 1/2 of their respective 
shares in favour of new partner ‘C’. C is to bring his 
share of premium for Goodwill in cash. They 
goodwill of the firm is estimated at Rs. 40,000. 

  Pass the necessary journal entries. 
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  A ©ØÖ® B AÁºPÐøh¯ C»õ£zøu 3 : 2 GßÓ 

ÂQuzvÀ ¤›zxöPõÒQßÓÚº. AÁºPÒ 1½ 

AÍÂ»õÚ AÁºPÐøh¯ £[øP ¦v¯ TmhõÎ ‘C’ 
BP v¯õP® ö\´QßÓÚº. ‘C’ AÁ¸øh¯ |Øö£¯º & 

öuõøP öμõUP©õP öPõskÁ¸QÓõº. AÁºPÐøh¯ 

|Øö£¯º ¹. 40,000&©õP {ºn°UP£kQÓx. 

÷uøÁ¯õÚ SÔ¨÷£mk £vÄPÒ u¸P. 

Or 

 (b) A firm  earned net profit during the last three year 
as follows : 

    Rs. 

I year 36,000 

II year 40,000 

III year 44,000  

  The capital investment of the first is Rs. 1,20,000. A 
fair return on the capital having regard to the risk 
involved is 10%. 

Calculate the value of goodwill on the basis of 3 year 
purchase of super profits. 

  J¸ {Ö©® Ph¢u ‰ßÖ BskPÎÀ Dmi¯ {Pμ »õ£® 

ÂÁμ[PÒ : 

    ¹. 

I year 36,000 

II year 40,000 

  III year 44,000  

  {Ö©zvß •uÀ ¹.1,20,000. •uÀ «x Gvº£õºUP£k® 

Ámi 10% E¯º C»õ£zvß ‰ßÖ Bsk öPõÒ•uÀ 

GÚUöPõsk |Øö£¯øμ PnUQkP. 
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14. (a) X, Y and Z were partners sharing profits in the ratio 
of 2 : 2 : 1. 

  Z retires and his share was taken up by X and Y in 
the ratio of 3 : 2. Calculate the gaining ratio of X 
and Y.  

  X, Y, Z TmhõÎPÒ C»õ£[PøÍ 2 : 2 : 1 GßÓ 

ÂQuvÀ £Qº¢x öPõÒQßÓÚº.      

  ‘Z’ GÝ® TmhõÎ Â»SQÓõº. AÁ¸øh¯ £[øP X 

©ØÖ® Y 3 : 2 GßÓ ÂQuzvÀ Gkzx öPõÒQßÓÚº.      

X ©ØÖ® Y&PõÚ Buõ¯ ÂQuzøu PnUQkP. 

Or 
 (b) Explain various method for calculation of Goodwill. 
  |Øö£¯øμ PnUQk® £À÷ÁÖ •øÓPøÍ ÂÁ›UPÄ®. 

15.  (a) Write a difference between Revaluation and 
Realisation a/c. 

  ©Ö ©v¨¥k ©ØÖ® ©Ö B´Ä PnUQØPõÚ 

÷ÁÖ£õkPøÍ GÊxP. 

Or 

 (b) Explain proportionate capital method. 

  ÂQuõ\õμ •uÀ •øÓø¯ £ØÔ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Sankar and Saleem are partners in a firm sharing profits 
and losses in the ratio of 3 : 2 as on 31st March, 2005. 
Their Balance Sheet as under : 

Liabilities Rs. Assets Rs. 

Creditors 90,000 Cash 5,000 

Bills payable 25,000 Bank 40,000 

Capital A/c  Stock 60,000 
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Liabilities Rs. Assets Rs. 

Sankar 1,50,000 Furniture 20,000 

Saleem 1,20,000 Land and Building 2,00,000 

  Debtors        62,000  

  (–) Provision  2,000 60,000 

 3,85,000  3,85,000 

 On 1st April 2005, they admit Solomon into partnership 
on the following condition. 

 (a) Solomon has brought Rs. 1,00,000 as capital. 

 (b) The value of Land and Building was to be increased 
by Rs. 20,000. 

 (c) Stock and Furniture were to be depreciated by  
Rs. 10,000 and Rs.4,000 respectively. 

 (d) Rs. 15,000 to be written off from Sundry creditors as 
it is no longer liability. 

 (e)  Provision for doubtful debts is to be increased by  
Rs. 1,000. 

 Prepare Revaluation A/c, Capital A/c and Balance sheet. 

  \[Pº, \½® GßÓ TmhõÎPÒ   GÝ® ÂQuzvÀ {ÖÁÚzvß 

C»õ£ |mhzøu¨ £Qº¢x Á¢uÚº. 2005, ©õºa, 31 B® 

|õøÍ¯ C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

£Ø£» 

PhÜ¢÷uõº 

90,000 öμõUP® 5,000 

ö\¾zuØSÔ¯ 

©õØÖ ^mk 

25,000 Á[Q 40,000 

•uÀ P/S.  \μUQ¸¨¦ 60,000 

 \[Pº 1,50,000 AøÓP»ß 20,000 



F–8004 

  

   7

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

 \½® 1,20,000 {»® ©ØÖ® Pmhh® 

PhÚõÎPÒ    62,000 

2,00,000 

  (–) I¯UPhß    2,000 60,000 

 3,85,000  3,85,000 

 2005, H¨μÀ 1 B® |õÍßÖ AÁºPÒ \õ»©ß Gß£Áøμ 

RÌUPõÝ® \›UPmku¾US J¨¦öPõsk Tmhõsø©°À 

÷\ºzxU öPõshÚº. 

 (A) \õ»©ß ¹. 1,00,000 •uÀ öPõsk Á¸Áx 

 (B) {»® Pmhh® ©v¨¦ ¹.20,000 AvP›¨¦ 

 (C) \μUQ¸¨¦ ©ØÖ® AøÓP»ß •øÓ÷¯ ¹.10,000,  

¹.4,000 ÷u´©õÚ® AÝ©v¨£x 

 (D)  PhÜ¢÷uõ›À  ¹.15,000 & }shPõ» {¾øÁ¯õP 

C¸¢uõÀ AzöuõøP°øÚ ÷£õUöPÊxP, 

 (E)  I¯UPhß JxUøP ¹.1,000 AvP›¨£x. 

 ©Ö©v¨¥k P/S, •uÀ P/S, C¸¨¦ {ø» SÔ¨¦ u¯õ›UP. 

17.  Lalitha, Jothi and Kanaga were partners of a firm 
sharing profit and losses in the ratio of 3 : 2 : 3. Set out 
below was their Balancesheet as on 31st March, 2003 

Balance Sheet 
Liabilities Rs. Assets Rs. 
Bills payable 32,000 Cash 750 
Creditors 62,500 Bank 2,04,500 
Capital A/c  Debts (book) 89,000 
Lalitha 2,00,000 Stock 1,11,500 
Jothi 1,25,000 Furniture 17,500 
Kanaga 1,50,000 Plant and Machinery 48,750 
P and L a/c 22,000 Building 1,20,000 
O/s Exp. 500   
 5,92,000  5,92,000 
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 Lalitha retires from the partnership on 1st April 2004 on 
the following. 

 (a)  Goodwill of the firm was to be valued at Rs. 30,000 

 (b)  The assets are to be valued as under stock  
Rs. 1,00,000, Furniture – 15,000, Plant and 
Machinery – 45,000, Buildings – Rs. 1,00,000 

 (c)  Provision for doubtful debts created at Rs. 4,250. 

 (d)  Lalith was to be paid off immediately. 

Show all necessary ledger a/c and balancesheet. 

 »¼uõ, ÷áõv, PÚPõ GßÓ TmhõÎPÒ •øÓ÷¯ 3 : 2 : 3 GÝ® 

ÂQuzvÀ C»õ£ |mh[PøÍ £Qº¢x Á¢uÚº. 

AÁºPÐøh¯ 2003 ©õºa 31&B® |õøÍ¯ C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

ö\¾zuØSÔ¯ ©õØÖa^mk 32,000 öμõUP® 750 

PhÜ¢÷uõº 62,500 Á[Q 2,04,500 

•uÀ P/S  Phß (Hk) 89,000 

»¼uõ 2,00,000 \μUQ¸¨¦ 1,11,500 

÷áõv 1,25,000 AøÓP»ß 17,500 

PÚPõ 1,50,000 ö£õÔ²®, 

ö£õÔöuõSv²®

 
48,750 

C»õ£ |mh P/S 22,000 Pmhh® 1,20,000 

öPõk £hõa ö\»Ä 500   

 5,92,000  5,92,000 
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 ¤ßÁ¸® £QºÄPÎÀ 2004 H¨μÀ 1 B® |õÒ »¼uõ Gß£Áº 

Tmhõsø©°¼¸¢x Â»QÚõº. 

 (A) |Øö£¯º ¹. 30,000 GÚ ©v¨¤h¨£mhx. 

 (B) RÌUPshÁõÖ ö\õzxPÒ ©v¨¤h¨£mhÚ, \μUQ¸¨¦ 

¹.1,00,000, AøÓP»ß ¹.15,000, ö£õÔ²® 

ö£õÔöuõSv²® ¹.45,000, Pmh® ¹. 1,00,000. 

 (C) I¯UPhß JxUS ¹. 4,250 E¸ÁõUP¨£mhx. 

 (D)  »¼uõÄUS ÷\μ÷Ási¯ öuõøP EhÚi¯õPa 

ö\¾zx¨£mhx. 

 AøÚzx ÷£÷μkPøÍ²® ©ØÖ® C¸¨¦{ø» SÔ¨ø£ 

u¯õ›UP. 

18.  P, Q and R share profits in proportion of 
5
1

,
4
1

,
2
1

. on the 

date of dissolution their Balance sheet was as  follows. 
Liabilities Rs. Assets Rs. 

Creditors 14,000 Sundry Assets 40,000 

P’s Cap. 10,000   

Q’s Cap. 10,000   

R’s cap, 6,000   

 40,000  40,000 

 The assets Realised Rs. 35,500. Creditors were paid in 
full. Realisation expenses amounted to Rs. 1,500. Close 
the books of the firm. 

  P, Q ©ØÖ® R AÁºPÐøh¯ C»õ£zøu 
5
1

,
4
1

,
2
1

 GÚ 

£Qº¢x öPõÒQßÓÚº. {Ö©® Pø»¨¤ß ö£õÊx 

AÁºPÐøh¯ C¸¨¦{ø»U SÔ¨¦ ÂÁμ®. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÜ¢÷uõº 14,000 £Ø£» ö\õzxPÒ 40,000 

P & •uÀ 10,000   
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ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

Q & •uÀ 10,000   

R & •uÀ 6,000   

 40,000  40,000 

 ö\õzxPÒ ¹. 35,500 GÚ PshÔ¯£mhx. PhÜ¢÷uõº 

•Êø©¯õP ö\¾zu¨£mhÚº. ©ÖB´Ä ö\´uuØPõÚ 

ö\»Ä ¹.1,500. {Ö©zvß PnUøP •iUPÄ®. 

19.  Explain Garner Vs Murray case. 

  PõºÚº  Vs •÷μ ÁÇUøP ÂÍUSP. 

20.  Red, White and Blue are in partnership. The following is 
their Balance sheet as at 31.12.85 on which date, they 
dissolved partnership they share profits in the ration of 
5:3:2. 

Liabilities Rs. Assets Rs. 
Capitals  Premises 40,000 
Red 50,000 Plant 30,000 
White 15,000 Stock 30,000 
Blue 45,000 Debtors 60,000 
Creditors 40,000   
Red’s loan 10,000   
 1,60,000  1,60,000 

 It was agreed to repay the amount due to the partners as 
and when the assets were realised, viz, 

   Rs. 

 1.2.86 30,000 

 1.4.86 73,000 

 1.6.86 47,000 

 Prepare a statement showing how the distribution to the 
partners should be made. 
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 ]Á¨¦, öÁÒøÍ, }»® & TmhõÎPÒ. 31.12.85 C¸¨¦{ø» 

SÔ¨¦. AÁºPÒ C»õ£ £QºÄ ÂQu® 5 : 3 : 2. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹.

•uÀ P/S  Pmhh® 40,000 

]Á¨¦ 50,000 {»® 30,000 

öÁÒøÍ 15,000 \μUQ¸¨¦ 30,000 

}»® 45,000 PhÜ¢÷uõº 60,000 

PhÜ¢÷uõº 40,000   

]Á¨¦ & Phß 10,000   

 1,60,000  1,60,000 

 TmhõÎPÎß & öuõøP ö\¾zu¨£mhx. 

 ö\õzxPÒ PshÔ¯£mhx 

  Rs. 

 1.2.86 30,000 

 1.4.86 73,000 

 1.6.86 47,000 

 TmhõÎPÐUS £Qº¢x uμ£h÷Ási¯ AÔUøPø¯ 

u¯õ›UPÄ®. 

 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is market?  

 \¢øu GßÓõÀ GßÚ? 

2. What are the different kinds of markets?  

 \¢øu°ß £» ÁøPPøÍ TÖP? 

3. What are the facilitating functions?  

 Á\v ö\´²® £oPÒ ¯õøÁ? 

4. What is buying? 

 Áõ[SuÀ GßÓõÀ GßÚ? 

5. What is selling? 

 ÂØ£øÚ GßÓõÀ GßÚ? 

6. What is Grading?  

 ÁøP¨£kzuÀ GßÓõÀ GßÚ? 
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7. What is Agmark?  

 AU©õºU GßÓõÀ GßÚ? 

8. What is salesmanship? 

 ÂØ£øÚz vÓ® GßÓõÀ GßÚ? 

9. What is customary pricies?  

 ÁÇUP©õÚ Âø»PÒ GßÓõÀ GßÚ? 

10. What is cost plus pricing?  

 öPõÒÂø» & ªøP¯õÚ Âø» {ºn¯® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the advantages of marketing.  

  \¢øu°h¼ß |ßø©PøÍ ÂÁ›. 

Or 

 (b) Explain the elements of marketing mix.  

  \¢øu°køPU P»øÁ°ß TÖPøÍ ÂÁ›. 

12. (a) What is E-marketing? What are the advantages of 
E-marketing?  

  ªßÚÝ \¢øu°¯À GßÓõÀ GßÚ? Auß 
|ßø©PøÍ TÖP. 

Or 

 (b) What are the marketing process? Explain.  

  \¢øu°køP |øh•øÓ GßÓõÀ GßÚ? AÁØøÓ 
ÂÁ›. 
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13. (a) Explain the consumer goods.  

  ~Pº÷Áõº ö£õ¸mPøÍ ÂÁ›. 

Or 

 (b) What are the Characteristics of product? Explain.  

  ö£õ¸Îß ]Ó¨£®\[PøÍ TÔ Aøu £ØÔ ÂÁ›. 

14. (a) Distinction between Advertising and Salesmanship.  

  ÂÍ®£μzxUS® ÂØ£øÚ vÓÝUS® EÒÍ 
÷ÁÖ£õmøh TÖP. 

Or 

 (b) Explain the advantages of consumers in 
advertising.  

  ÂÍ®£μzvß ‰»® ~Pº÷Áõº Aøh²® |ßø©PøÍ 
ÂÁ›. 

15.  (a) Explain any five factors influencing pricing decision.  

  Âø» {ºn°zu¼ß EÒÍ H÷uÝ® I¢x 
PõμoPøÍ ÂÁ›. 

Or 

 (b) What are the basic pricing policies? Explain.  

  Ai¨£øh Âø» {ºn¯U öPõÒøPPÒ ¯õøÁ? 
AÁØøÓ £ØÔ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the factors affecting marketing mix.  

 \¢øu°køPU P»øÁø¯ £õvUS® PõμoPøÍ ÂÁ›. 

17. Criticize the role of consumer product selection in  
e-marketing.  

 ªßÚÝ ÁºzuPzvß ö£õ¸m÷uØÂß ÷£õx ~Pº÷Áõ›ß 
£[QøÚ ÂÁ›. 
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18. Explain factors to be considered before introducing a new 
product.  

 ¦v¯ ö£õ¸øÍ AÔ•P® ö\´²® •ß Bμõ¯ £h 
÷Ási¯ PõμoPøÍ ÂÁ›. 

19. Explain the various qualities of a successful salesman.  

 ÂØ£øÚ £o¯õÍ›ß öÁØÔ°ß £À÷ÁÖ uSvPøÍ Sn 
|»ßPÒ £ØÔ ÂÁ›. 

20. How fix the pricing of new products? Explain.  

 ¦v¯ ö£õ¸mPÎß Âø» {ºn¯® £ØÔ ÂÁ›. 
 

———————— 
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 Part A  (10 × 2 = 20) 
Answer all questions. 

1. What is Key Managerial Personnel? 

 •UQ¯ ÷©»õsø© £o¯õÍº GßÓõÀ GßÚ? 

2. What is managerial remuneration? 

 ÷©»õsø©¯º Fv¯® GßÓõÀ GßÚ? 

3. State the difference between Executive Director and  
Non Executive Director. 

 {ºÁõP C¯USÚº ©ØÖ® {ºÁõP©ØÓ C¯USÚº Cøh÷¯ 
EÒÍ ÷ÁÖ£õmøhU TÖP. 

4. What is Retirement of Directors by rotation? 

 _ÇØ] ‰»® C¯US|ºPÎß K´Ä GßÓõÀ GßÚ? 

5. What is an agenda? 

 {PÌa] {μÀ GßÓõÀ GßÚ? 

6. What is Special resolution? 
 ]Ó¨¦ wº©õÚ® GßÓõÀ GßÚ? 
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7. What is Class action? 
 ÁøP |hÁiUøP GßÓõÀ GßÚ? 

8. State the powers of tribunal regarding Oppression and 
Mismanagement? 

 JkUS •øÓ ©ØÖ® uÁÓõÚ {ºÁõP® öuõhº£õÚ 
wº¨£õ¯zvß AvPõμ[PøÍU SÔ¨¤kP. 

9. What is winding up of companies? 
 {ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? 

10. What is meant by defunct company? 
 ö\¯¼Ç¢u {ÖÁÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the provisions regarding Vacation of 
Directors. 

  C¯US|ºPÎß Âk•øÓ öuõhº£õÚ ÂvPøÍ 
ÂÍUS[P. 

Or 

 (b) Highlight the duties of a director. 
  J¸ C¯USÚ›ß Phø©PøÍ •ßÛø»¨£kzuÄ®. 

12. (a) Explain the Remuneration payable to directors in 
the absence of profit. 

  »õ£® CÀ»õu {ø»°À C¯US|ºPÐUS ö\¾zu 
÷Ási¯ Fv¯zøu ÂÍUSP. 

Or 

 (b) Discuss the disqualification prescribed for 
appointment of a Managing Director. 

  »õ£® CÀ»õu {ø»°À C¯US|ºPÐUS ö\¾zu 
÷Ási¯ Fv¯zøu ÂÍUSP. 
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13. (a) Discuss the provisions regarding conduct of Board 
Meeting. 

  Áõ›¯U Tmhzøu |hzxÁx öuõhº£õÚ ÂvPÒ 
SÔzx ÂÁõvUP. 

Or 

 (b) Highlight the matters requiring Special Resolution. 

  ]Ó¨¦z wº©õÚ® ÷uøÁ¨£k® Âå¯[PÒ 
•ßÛø»¨£kzuÄ®. 

14. (a) Highlight the disqualification of auditor. 

  uoUøP¯õÍ›ß uSv }UP[PøÍ •ßÛø»¨£kzuÄ®. 

Or 

 (b) State the matters required in Auditor’s Report. 

  uoUøP¯õÍ›ß AÔUøP°À ÷uøÁ¯õÚ Âå¯[PøÍ 
SÔ¨¤kP. 

15.  (a) Write note on termination or modification of certain 
agreements. 

  ]» J¨£¢u[PøÍ •izuÀ AÀ»x ©õØÔ¯ø©zuÀ 
SÔzx SÔ¨¦ GÊx[P.  

Or 

 (b) Explain maintenance of books and audit of accounts 
in respect of winding up of companies. 

  {ÖÁÚ[PÎß Pø»¨¦ öuõhº£õP ¦zuP[PÎß 
£μõ©›¨¦ ©ØÖ® PnUSPÎß uoUøP BQ¯ÁØøÓ 
ÂÍUS[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the role of Constitution of important Committees 
under Companies Act, 2013, 

 {ÖÁÚ[PÒ \mh®, 2013 Cß RÌ •UQ¯©õÚ SÊUPÎß 
Aμ]¯»ø©¨¤ß £[S £ØÔ ÂÁõvUP. 
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17. Discuss the procedure regarding appointment of Key 
Managerial Personnel. 

 •UQ¯ ÷©»õsø© £o¯õÍºPøÍ {¯ª¨£x öuõhº£õÚ 
|øh•øÓPøÍ¨ ÂÁõvUP. 

18. Discuss the procedure to convene Annual General 
Meeting as per Section 96 of Companies Act, 2013. 

 {ÖÁÚ[PÒ \mh®, 2013 Cß ¤›Ä 96 ß £i Á¸hõ¢vμ 
ö£õxU Tmhzøu Tmk® |øh•øÓ £ØÔ ÂÁõvUP. 

19. Discuss the procedure for filing application to the 
Tribunal with regard to Oppression and Mismanagement. 

 AhUS•øÓ ©ØÖ® uÁÓõÚ {ºÁõP® öuõhº£õP 
wº¨£õ¯zvÀ Âsn¨£® uõUPÀ ö\´ÁuØPõÚ 
|øh•øÓPøÍ¨ £ØÔ ÂÁõvUP. 

20. Describe the procedure for Liquidation of Companies as 
per Section 361 to 365. 

 ¤›Ä 361 •uÀ 365 Áøμ {ÖÁÚzvß Pø»¨¦ 
|øh•øÓø¯ ÂÁ›UP. 

  
———————— 
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BUSINESS STATISTICS 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Sampling? 

 ©õv› •øÓ GßÓõÀ GßÚ? 

2. State the meaning of tabulation. 

 AmhÁøn°ß ö£õ¸øÍU TÖP. 

3. What is Mode? 

 •Pk GßÓõÀ GßÚ? 

4. Write short note on harmonic mean. 

 ^›ø\U \μõ\› SÔzx ]Ö SÔ¨¦ GÊxP. 

5. State the types of correlation. 

 JmkÓÂß ÁøPPøÍU TÖP. 

Sub. Code 
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6. What is regression line X on Y? 

 öuõhº¦÷£õUS ÷Põk X on Y GßÓõÀ GßÚ? 

7. What do you mean about time series analysis? 

 ÷|μz öuõhº¦ £S¨£õ´Ä £ØÔ }Âº AÔÁx ¯õx? 

8. What is Index numbers? 

 SÔ±möhsPÒ GßÓõÀ GßÚ? 

9. Write a note on independent events. 

 \õº£ØÓ {PÌa] SÔzx SÔ¨¦ GÊxP. 

10. What is conditional probability? 

 {£¢uøÚ {PÌuPÄ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the various methods of collecting primary 
data? 

   •ußø©z uμÄPøÍa ÷\P›US® £À÷ÁÖ •øÓPÒ 

¯õøÁ? 

Or 

 (b) Draw a multiple bar diagram from the following 
data: 
Year Sales 

 000.'Rs
Gross Profit
 000.'Rs  

Net Profit
 000.'Rs  

2014 120 40 20 

2015 135 45 30 

2016 140 55 35 

2017 150 60 40 
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   ¤ßÁ¸® uμÄPÎ¼¸¢x £»£møh Áøμ£hzøu 

Áøμ¯Ä®. 

Á¸h® ÂØ£øÚ 
 000.'Rs  

ö©õzu 

C»õ£® 
 000.'Rs  

{Pμ 

»õ£® 
 000.'Rs

2014 120 40 20 

2015 135 45 30 

2016 140 55 35 

2017 150 60 40 

12. (a) Find the Q1, Q2, and Q3. 

X 10-20 20-30 30-40 40-50 50-60 60-70

Y 30 35 42 43 60 40 

   Q1, Q2 ©ØÖ® Q3ø¯ Psk¤iUPÄ®. 

X 10-20 20-30 30-40 40-50 50-60 60-70

Y 30 35 42 43 60 40 

Or 

 (b) Compute Harmonic Mean. 

X 40-45 45-50 50-55 55-60 60-65

Y 10 20 28 48 25 

   ^º›ø\ \μõ\›ø¯ Psk¤iUPÄ®. 

X 40-45 45-50 50-55 55-60 60-65

Y 10 20 28 48 25 

13. (a) Compute Standard deviation from the following 
data 

X 0-10 10-20 20-30 30-40 40-50

Y 14 16 30 12 6 
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   ¤ßÁ¸ÁÚÁØÖÒ uμÂ»UP® PnUQhÄ®. 

X 0-10 10-20 20-30 30-40 40-50

Y 14 16 30 12 6 

Or 

 (b) Ten competitors in a beauty competition are ranked 
by three judges in the follows order 

First Judge 2 3 6 9 4 10 7 5 8 1

Second Judge 10 7 5 1 2 4 6 8 9 3

Third Judge 3 2 10 8 1 9 5 7 6 4

   Use the Rank correlation to discuss which pair of 
judges have the nearest approach to common tastes 
in beauty.  

   AÇS¨ ÷£õmi°À £zx ÷£õmi¯õÍºPÒ ¤ßÁ¸® 

Á›ø\°À ‰ßÖ |kÁºPÍõÀ 

Á›ø\¨£kzu¨£kQÓõºPÒ. 

|kÁº 1 2 3 6 9 4 10 7 5 8 1

|kÁº 2 10 7 5 1 2 4 6 8 9 3

|kÁº 3 3 2 10 8 1 9 5 7 6 4

   G¢u ÷áõi }v£vPÒ, AÇQÀ ö£õxÁõÚ μ\øÚPÐUS 

A¸QÀ EÒÍ AqS•øÓø¯U öPõskÒÍÚº 

Gß£øu £ØÔ ÂÁõvUP, uμ JmkÓøÁ £¯ß£kzuÄ®. 

14. (a) Calculate the cost of living index from the following 
data: 

  Price 

Items Quantity in the 
base year 

Base 
Year 

Current 
Year 

A 200 1 1.2 

B 50 3 3.5 

C 50 4 5 

D 20 20 30 

E 50 10 30 
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   ¤ßÁ¸® uμÄPÎ¼¸¢x ÁõÌUøPU ö\»Ä® SÔ±mk 

GsønU PnUQhÄ®. 

  Âø» 

ö£õ¸mPÒ AÍÄPÒ 

Ai¨£øh 

BsiÀ 

Ai¨£øh 

Bsk 

|h¨¦ 

Bsk 

A 200 1 1.2 

B 50 3 3.5 

C 50 4 5 

D 20 20 30 

E 50 10 30 

Or 

 (b) Calculate three yearly moving avenge. 

Year 2007 2008 2009 2010 2011 2012 2013 2014 2015 2016

Production  000.'Rs  21 22 23 25 24 22 25 26 27 26 

   ‰ßÓõskPÒ |P¸® \μõ\›ø¯ PnUQhÄ®. 

Á¸h® 2007 2008 2009 2010 2011 2012 2013 2014 2015 2016

EØ£zv  000.'Rs  21 22 23 25 24 22 25 26 27 26 

15. (a) Distinguish between mutually exclusive and 
independent events. Also give examples of each of 
these. 

   £μì£μ {PÌÄPÒ ©ØÖ® \õº£ØÓ {PÌÄPøÍ 

÷ÁÖ£kzxP. CøÁ JÆöÁõßÔß Euõμn[PøÍ²® 

uμÄ®. 

Or 
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 (b) Explain Bayes’ theorem and bring out its 
importance in probability theory. 

   ÷£´êß ÷uØÓzøu ÂÍUQ, {PÌuPÄU ÷Põm£õmiÀ 

Auß •UQ¯zxÁzøu öPõnºP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various methods secondary data. 

 Cμshõ® {ø» uμÄPÎß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

17. Compute Mean, Median and Mode. 
X 0-10 10-20 20-30 30-45 40-50

Y 12 18 20 25 23 

 \μõ\›, Cøh{ø» \μõ\› ©ØÖ® •Pk PnUQhÄ®. 

X 0-10 10-20 20-30 30-45 40-50

Y 12 18 20 25 23 

18. From the following data, find the both regression 
equations and estimate the probable yield when the 
rainfall is 60’’ 

 Rainfall Yield

Mean 50'' 80 

Standard deviation 6'' 12 

Correlation 0.8 

 ¤ßÁ¸® uμÄPÎ¼¸¢x, Cμsk öuõhº¦¨ ÷£õUS 

\©ß£õkPøÍ²® PshÔ¢x, ©øÇ¨ö£õÈÄ 60 BP 

C¸US® ÷£õx \õzv¯©õÚ ÂøÍa\ø» ©v¨¤hÄ®. 

 ©øÇ¨ö£õÈÄ ÂøÍa\À

\μõ\› 50'' 80 

uμÂ»UP®  6'' 12 

JmkÓÄ 0.8 
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19. Fit a straight line tend to the following data by least 
square method. Also find an estimate for the year 2025. 

Year 2010 2011 2012 2013 2014 2015 2016 2017

No. of units (‘000) 12 13 13 16 19 23 21 23 

 SøÓ¢u ÁºUP •øÓ‰»® ¤ßÁ¸® uμÄPÐUS 

÷|º÷Põmk¨ ÷£õUøP ö£õ¸zuÄ®. 2025 CÀ 

Gvº£õºUP¨£k® A»SPÎß GsoUøP ¯õøÁ? 

Á¸h® 2010 2011 2012 2013 2014 2015 2016 2017

A»SPÎß GsoUøP (‘000) 12 13 13 16 19 23 21 23 

20. What is the probability that a leap year selected at 
random will contain 53 Sundays?  

^μØÓ •øÓ°À ÷uº¢öukUP¨£mh J¸ ½¨ BsiÀ 53 

bõ°Ö® C¸¨£uØPõÚ {PÌuPÄ GßÚ? 

 

 

 
———————— 
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B.Com. (CS)DEGREE EXAMINATION, NOVEMBER 2022 

Fourth Semester 

Corporate Secretaryship 

HUMAN RESOURCE MANAGEMENT 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Human Resource Management. 

 ©Û© ÁÍ ÷©»õsø©°ß C»UPn® ÁøμP. 

2. Write any two needs of human resource management. 

 ©Ûu ÁÍ ÷©»õsø©°ß H÷uÝ® C¸ ÷uøÁPÒ 
GÊxP. 

3. What are the objectives of HR planning? 

 ©Ûu ÁÍ vmhªku¼ß ÷|õUP[PÒ ¯õøÁ? 

4. What is the Job Training? 

 ÷Áø»°ß £°Ø] GßÓõÀ GßÚ? 

5. What is Job specifications? 

 £oz÷uøÁU SÔ¨¦PÒ GßÓõÀ GßÚ? 

6. What are the techniques of Recruitment? 

 ÷\ºzu¼ß ~m£[PÒ ¯õøÁ? 

Sub. Code 
7BCS4C4 
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7. What are the objectives of Interview? 

 ÷|º•Pz ÷uºÂß ÷|õUP[PÒ £ØÔ TÖP. 

8. What is Training? 

 £°Ø] GßÓõÀ GßÚ? 

9. What is Induction Training? 

 ¦x•P® ö\´Áuß ‰»® £°Ø] GßÓõÀ GßÚ? 

10. What is meaning of incentives? 

 FUSÂ¨¦PÒ Gß£uß ö£õ¸Ò GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the objectives of Human Resource 
Management? Explain. 

  ©Ûu ÁÍ ÷©»õsø©°ß ÷|õUP[PÒ ¯õøÁ? 
ÂÍUSP. 

Or 

 (b) Explain the qualifications of Human Resource 
manager. 

  ©Ûu ÁÍ ÷©»õÍ›ß PÀÂz uSvPÒ ÂÁ›. 

12. (a) Explain the various procedure for Job analysis. 

  £o B´Ä |øh•øÓ°ß £À÷ÁÖ {ø»PÒ ÂÁ›. 

Or 

 (b) What are the merits of Job analysis? Explain.  

  £o¨ £S¨£õ´Âß |ßø©PÒ ÂÁ›. 
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13. (a) Explain the sources of recruitment. 

  ÷\ºzu¼ß ‰»[PÒ ÂÁ›. 

Or 

 (b) What are the demerits of Internal sources? 

  APÁÈ ‰»[PÎß wø©PÒ ¯õøÁ? 

14. (a) Explain the stages in selection. 

  ÷uº¢öukzu¼ß Pmh[PÒ ÂÁ›. 

Or 

 (b) What are the demerits of Tests? 

  ÷uºÄPÎß SøÓ£õkPÒ ¯õøÁ? 

15.  (a) Explain the types of promotion. 

  £uÂ E¯ºÂß ÁøPPÒ ¯õøÁ? 

Or 

 (b) What are the purposes of Transfer? Explain. 

  Ch ©õØÓzvß ÷|õUP[PÒ ¯õøÁ? ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain “HRM as a profession”. 

 ©ÛuÁÍ ÷©®£õk&öuõÈÀ ÂÁ›. 

17. Explain factors affecting Human Resource Plan. 

 ©Ûu ÁÍzvmhzøu £õvUS® PõμoPøÍ £ØÔ ÂÁ›. 



F–8008 

  

  4

18. Explain the process of Induction. 

 ¦x•P® ö\´u¼ß |øh•øÓ £ØÔ ÂÁ›. 

19. Explain the types of training. 

 £°Ø]°ß ÁøPPÒ £ØÔ ÂÁ›. 

20. Explain demotions and what are the causes of demotion? 

 £uÂ°ÓUP® £ØÔ ÂÍUQ ©ØÖ® £uÂ°ÓUPzvß 
Põμn[PøÍ £ØÔ ÂÁ›. 

––––––––––– 
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COMMERCIAL LAW 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is wagering contract? 

 ¤øn¯ J¨£¢u® GßÓõÀ GßÚ? 

2. What are cross offers? 

 SÖUS •øÚÄ GßÓõÀ GßÚ? 

3. Distinguish between misrepresentation and fraud. 

 ¤μv{vzxÁzvß ©ØÖ® ÷©õ\i EÒÍ ÷ÁÖ£õk. 

4. Who are alien enemies? 

 ÁÇUPzvØS ©õÓõÚ £øPÁºPÒ Gß£Áº ¯õº? 

5. When a contract is discharged by the operation of law? 

 \mhzvß ö\¯À£õmk ‰»® J¸ J¨£¢u® G¨ö£õÊx 

öÁÎ÷¯ØÓ¨£kQÓx? 

6. State the reasons for discharged by supervening 
impossibility. 

 \õzv¯©ØÓøuU Pmk£kzxÁuØPõÚ Põμn[PøÍ TÖP. 

Sub. Code 
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7. When is an agency irrevocable? 

 G¨ö£õÊx •Pø©¯õP ©õØÓ•i¯õx? 

8. Explain agency by estoppels. 

 Gì÷hõ£À ‰»® •PÁøμ ÂÍUSP. 

9. Define the term mortgage. 

 Ah©õÚ® GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

10. Define the term bailment. 

 EzvμÁõu® GßÓ ö\õÀø» Áøμ¯Ö. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) What are the various kinds of contracts? Describe 
them briefly. 

  £À÷ÁÖ ÁøP¯õÚ J¨£¢u[PøÍ ¯õøÁ? AÁØøÓ 

_¸UP©õP ÂÁ›. 

Or 

 (b) What do you mean by lapse of an offer? 

  •øÚÄ CøÇ¨¦ Gß£uøÚ }Ãº Põq® ö£õ¸Ò 

GßÚ? 

12. (a) Can a stranger to a contract sue? 

  A¢{¯ºPÒ ÁÇUS öuõhμ •i²©õ? 

Or 

 (b) Describe the minors liability for necessary. 

  CÍÁºPÎß ÷uøÁ¯õÚ ö£õÖ¨ø£ ÂÁ›UP. 
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13. (a) What do you understand by innovation? 

  ¦xø© Gß£uøÚ £ØÔ }[PÒ ¦›¢x öPõshx GßÚ? 

Or 

 (b) Briefly discuss various notes of discharge by mutual 
agreement. 

  Jzvø\Ä Ehß£õk öÁÎ÷¯ÖÁuØPõÚ £À÷ÁÖ 

SÔ¨¦PøÍ _¸UP©õP ÂÁõv. 

14. (a) Under what circumstances is a party entitled to a 
specific performance? 

  G¢u `Ì{ø»°À J¸ SÔ¨¤mh Pm]US 

ö\¯ÀvÓÝUPõÚ E›ø© Esk? 

Or 

 (b) When does a claim on meruit arise? 

  uSv SÔzu TØÖ G¨ö£õÊx GÊQÓx? 

15.  (a) Discuss the rights and liabilities of a finder of goods. 

  ö£õ¸mPøÍ Psk¤i¨£Á›ß E›ø©PÒ ©ØÓ® 

ö£õÖ¨¦PÒ ¯õøÁ? 

Or 

 (b) Discuss the duties and rights of a bailor and bailee. 

  J¨£øhÄ ö\´÷Áõº ©ØÖ® ö£Ö÷Áõº EÒÍ 

Phø©PÒ ©ØÖ® E›ø©PøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What do you mean by contract? List out the essentials of 
a valid contract? 

 J¨£¢u® Gß£uß ö£õ¸Ò GßÚ? ö\À»uUP J¨£zuvß 

•UQ¯zxÁzøu £mi¯¼kP. 



F–8009 

  

  4

17. In what cases the consideration and object of an 
agreement are said to be un lawful? Explain with 
examples? 

 G¢u \¢uº¨£[PÎÀ J¸ J¨£¢uuzvß P¸zuõ´Ä ©ØÖ® 

ö£õ¸Ò \mhÂ÷μõu©õÚx GßÖ TÓ¨£kQÓx? 

GkzxUPõmkPÐhß ÂÍUSP. 

18. State the principles on which damages are awarded on a 
breach of contract? 

 J¨£¢u «Ó¼À G¢u ÷\u[PÒ ÁÇ[P¨£kQßÓÚ GßÓ 

öPõÒøPø¯ SÔ¨¤kP. 

19. Write short notes on the following; 

 (a) Discharge of contract by remission 

 (b) Discharge of contract by tender 

 RÌPshÁØøÓ ]Ö SÔ¨¦ ÁøμP. 

 (A) {Áõμn® ‰»® J¨£¢uzøu öÁÎ÷¯ØÖuÀ. 

 (B) J¨£¢u ¦ÒÎ ‰»® J¨£¢uzøu öÁÎ÷¯ØÖuÀ. 

20. When is a pledge created by non-owners valid? 

 E›ø©¯õÍºPÒ AÀ»õuÁºPÍõÀ E¸ÁõUP¨£mh 

EÖvö©õÈ G¨÷£õx ö\À¾£i¯õS®? 

 
———————— 
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Time : 3 Hours                                 Maximum : 75 Marks 
                                             Part A                         (10  2 = 20) 

Answer all questions. 

1. What is forfeiture of shares? 
 £[SPøÍ £Ô•uÀ ö\´Áx GßÓõÀ GßÚ? 

2. What are the types of underwriting? 
 GÊzx ÁøP GßÚ? 

3. What is Debenture? 
 Phß £zvμ® GßÓõÀ GßÚ? 

4. Write a Short note on Ex-interest. 
 •ßÚõÒ Ámi J¸ ]Ô¯ SÔ¨¦ GÊxP. 

5. Write a note on ‘Super profit’? 
 ‘`¨£º »õ£®’ £ØÔ J¸ SÔ¨¦ GÊxP. 

6. What is ‘Yield Value of shares’? 
 ‘£[SPÎß ©P`À ©v¨¦’ GßÓõÀ GßÚ? 

7. What is a contingent liability? 
 J¸ öuõhºa]¯õÚ ö£õÖ¨¦ GßÚ? 

8. Define current assets. 

 |h¨¦a ö\õzxUPøÍ Áøμ¯Ö. 

Sub. Code 
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9. What is External Reconstruction? 

 öÁÎ¨¦Ó ¦Úμø©¨¦ GßÓõÀ GßÚ? 

10. Write a note on ‘Purchase consideration’. 

 ‘öPõÒ•uÀ £›^»øÚ’ £ØÔ J¸ SÔ¨¦ GÊxP. 

                                              Part B                           (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the provisions relating to allotment of 
shares? 

  £[S JxURk öuõhº£õÚ HØ£õkPÒ ¯õøÁ? 

Or 

 (b) Ajanta Trading Co ltd., has an authorized capital of 
Rs.8,00,000 divided into 10,000 6% redeemable 
preference shares of Rs.10 each, 20,000 7% 
preference shares of Rs.10 each, and 50,000 equity 
shares of Rs.10 each. On January 1, 2019 the whole 
of the two classes of preference shares and 15,000 of 
the equity shares stood in the books as fully paid. 
The share premium account as on that date showed 
a balance of Rs.20,000. The balances of profit was 
Rs.32,000. 

  On July 1, 2019 it was decided to redeem the whole 
of 6% preferences shares at a premium of Re. 1 per 
share and for this specific purpose the company 
issued for cash 8,000 equity shares of Rs. 10 each at 
a premium of Rs.2 per share payable in full on 
allotment. All the above shares were taken up. The 
cost of issue of shares amounted to Rs.3,000. 

  It is the intention of the directors that minimum 
reduction should be made in revenue reserve 
account which stood at Rs.1,25,000. Give necessary 
journal entries and prepare ledger accounts in 
respect of the above. 
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Aá¢uõ i÷μi[ ÷Põ ¼ªöhm A[R›UP¨£mh 

‰»uÚ©õP ¹.8,00,000 I 10,000 6% «mPUTi¯ 

Â¸¨£¨£[SPÍõP u»õ ¹,10, 20,000 7% •ßÝ›ø© 

£[SPÒ u»õ ¹.10, ©ØÖ® 50,000 £[SPÒ u»õ ¹.10 

áÚÁ› 1,2019 AßÖ Cμsk ÁøP •ßÝ›ø© 

£[SPÒ ©ØÖ® 15,000 £[SPÒ •Êø©¯õP 

ö\¾zu¨£mh ¦zuP[PÎÀ {ßÓÚ. A¢u ÷uv°À 

EÒÍ £[S ¤Ÿª¯® PnUS ¹.20,000 C¸¨¦ 

Põmi¯x. C»õ£ C¸¨¦ ¹.32,000 BS®. 

  áüø» 1,2019 AßÖ J¸ £[SUS ¹.1 ¤Ÿª¯zvÀ 6% 

Â¸¨£z÷uºÄPÒ £[SPÒ •ÊÁøu²® «mP •iÄ 

ö\´¯¨£mhx. ÷©¾® C¢u SÔ¨¤mh ÷|õUPzvØPõP 

{ÖÁÚ® öμõUP©õP 8,000 £[SPÐUS u»õ ¹.10US 

¹.10US JxURk «x •Êø©¯õP ö\¾zu ÷Ási¯ 

J¸ £[SUS ¹.2 ¤Ÿª¯zvÀ ÁÇ[Q¯x. ÷©÷» EÒÍ 

AøÚzx £[SPÐ® GkzxUöPõÒÍ¨£mhÚ. 

£[SPÎß Âø» ¹.3,000 BS®. Á¸Áõ´ C¸¨¦U 

PnUQÀ SøÓ¢u£m\ SøÓ¨¦ ö\´¯¨£h ÷Ásk® 

Gß£x C¯US|ºPÎß ÷|õUP©õS®. Cx ¹.1,25,000 

BP C¸¢ux. ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍU 

öPõkzx ÷£÷μmkU PnUSPøÍ u¯õº ö\´P. 

12. (a) Distinguish between shares and Debentures. 

  £[SPÒ ©ØÖ® Phß £zvμ[PøÍ Cøh÷¯ 

÷ÁÖ£kzxP. 

Or 

 (b) Sanghi Bros Private Ltd., was incorporated on June 
30, 2017, to acquire the business of Indra Lal as 
from January 1, 2017 on the, basis of the balance 
sheet dated December 31, 2016. The accounts for 
the year ended December 31, 2017 disclosed the 
following: 
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(i) There was a gross profit of Rs.2,40,000. 

(ii) The sales for the year amounted to  
Rs. 12,00,000 of which Rs. 5,40,000 was for the 
first six months. 

(iii) The expenses debited to profit and loss 
account included directors’ fee Rs. 15,000, bad 
debts Rs. 3,600; advertising Rs.12,000 (under 
a contract amounting to Rs.l,000 per month); 
salaries and general expenses Rs. 64,000; 
preliminary expenses written off Rs. 5,000;  

(iv) Donation to the political party given by the 
company Rs. 5,000. 

 Prepare a statement showing the amount of 
profit made before and after incorporation.  

  \[Q ¤μuºì ¤øμ÷Ám ¼ªöhm, i\®£º 31, 2017 

÷uv°mh C¸¨¦{ø»U SÔ¨¤ß Ai¨£øh°À 

áÚÁ› 1,2017 •uÀ C¢vμ»õ¼ß ÁoPzøu¨ 

ö£ÖÁuØPõP áüß 30, 2017 AßÖ CønUP¨£mhx. 

i\®£º 31, 2017 Ehß •iÁøh¢u BskUPõÚ 

PnUSPÒ ¤ßÁ¸ÁÚøÁ öÁÎ¨£kzvÚ: 

(i) ¹.2,40,000 ö©õzu C»õ£® C¸¢ux. 

  (ii) C¢u Bsiß ÂØ£øÚ ¹.12,00,000 BS®. 

CvÀ ¹.5,40,000 •uÀ BÖ©õu[PÐUS 

C¸¢ux. 

  (iii) C»õ£ |mhUPnUQÀ £ØÖa ö\´¯¨£mh 

ö\»ÄPÎÀ C¯US|ºPÎß Pmhn® ¹.15,000, 

ÁõμõUPhß ¹,3,600; ÂÍ®£μ® ¹.12,000 (©õu® 

¹.1,000 J¨£¢u£i); \®£Í® ©ØÖ® ö£õx 

ö\»ÄPÒ ¹.64,000; Bμ®£ ö\»ÄPÒ ¹.5,000 

uÒÐ£i; 
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  (iv) {ÖÁÚ® ÁÇ[Q¯ Aμ]¯À Pm]US |ßöPõøh 

¹.5,000. Tmiøn¨£uØS •ßÝ® ¤ßÝ® 

ö\´¯¨£mh C»õ£zvß AÍøÁU Põmk® J¸ 

AÔUøPø¯z u¯õ›UPÄ®. 

13. (a) From the following particulars, calculate the value 
per equity share: 

 Rs. 
5,000 8% Preference share of Rs.100 each 5,00,000
75,000 Ordinary shares of Rs.10 each Rs.8 per share paid up 6,00,000
Expected profits per year before tax 2,80,000
Rate of tax 50%  
Transfer to General Reserve every year 20% of profit  
Normal rate of earnings 10%.  

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, £[S JßÖUS ©v¨¦ 

PnUQhÄ®. 

 Rs. 
5,000 8% •ßÝ›ø© £[S u»õ ¹.100 5,00,000
75,000 \õuõμn £[SPÒ JÆöÁõßÖ® ¹.10 J¸ £[SUS ¹.8 

ö\¾zu¨£mhx 

6,00,000

Á›US •ß Á¸hzvØSÒ Gvº£õºUP¨£k® C»õ£[PÒ 2,80,000
Á›ÂQu® 50% 50%  
ö£õx ›\ºÆ JÆöÁõ¸ Bsk® C»õ£ \õuõμn Á¸Áõ´ ÂQuzvÀ 

20% 
 

C»õ£ \õuõμn Á¸Áõ´ ÂQu® 10%  

Or 

 (b) The following information is given: 
  (i) Capital employed Rs.1,50,000 
  (ii) Normal rate of profit 10% 
  (iii) Net profit for five years: 1st Year  

Rs. 14,400; 2nd Year Rs. 15,400;  
3rd Year Rs. 16,900; 4th Year Rs. 17,400;  
5th Year Rs. 17,900. 

  Calculate goodwill as per 5 years purchase of super 
profit. 

  ¤ßÁ¸® uPÁÀPÒ öPõkUP¨£mkÒÍÚ: 

(i) ‰»uÚ® ¹.1,50,000 
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  (ii) \õuõμn C»õ£ ÂQu® 10% 

  (iii) I¢x BskPÐUS {Pμ C»õ£®: 1Áx Bsk 

¹.14,400; 2Áx BskUS ¹.15,400, 3Áx 

Bsk ¹.16,900; 4B® Bsk ¹.17,400; 5B® 

Bsk ¹.17,900. 5 Á¸h[PÎß £i |Øö£¯øμU 

PnUQkP. 

14. (a) The Manager of M/s Moon Ltd is entitled to get a 
salary of Rs.2,500 per month plus 1% Commission 
on the net profits of the company after such salary 
commission. The following is the Profit and Loss a/c 
of the company for the year ended 30th June 2016. 

To Salaries, wages   By Gross profit 9,00,000 

 and bonus 1,92,500   

To General expenses 74,000 By Subsidy from 
Govt. 

60,000 

To Depreciation 82,000 By Profit on sale of 
assets (cost 
Rs.2,50,000; written 
down value 
Rs.1,80,000) 1,00,000 

To Expenditure on 
scientific Research 
(cost of apparatus) 

 
14,000 

  

To Manager’s salary 30,000   

To Manager’s commission 6,000   

To Bad debts Reserve 17,500   

To Income tax provision 2,40,000   

To Proposed Dividend 1,00,000   

To Balance c/d 3,04,000   

 10,60,000  10,60,000

  Depreciation as per Income tax rules amount to 
Rs.81,000. Calculate the remuneration payable to 
the manager. 
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 M/ì ‰ß¼ªöhm {ÖÁÚzvß •Põø©¯õÍº ©õuÀ 

JßÖUS ¹£õ´ 2,500 \®£Í•®, AzuøP¯ \®£Í 

BønUSÊÄUS ¤ßÚº {ÖÁÚzvß {Pμ C»õ£zvÀ 1% 

BønUSÊÄ® E›zxøh¯ÁμõÁõº. 2016 áüß 30 B® 

vPv •iÁøh¢u Bsiß C»õ£ |mh® A/C Gß£x 

¤ßÁ¸ÁÚÁõS®. 

\®£Í®,   ö©õzu C»õ£zvß 

‰»® 

9,00,000

©ØÖ® ÷£õÚì 1,92,500  

ö£õxÁõÚ 

ö\»ÄPÐUS 

74,000 Aμ_ ©õÛ¯® 

‰»® 

60,000

÷u´©õÚzvØS 82,000 ö\õzxUPøÍ 

ÂØ£øÚ ö\´uÁß 

‰»® C»õ£® 

(¹,2,50,000 

ö\»ÁõS®; 

GÊu¨£mh ©v¨¦ 

¹.1,80,000) 1,00,000

ÂgbõÚ 

Bμõ´a]UPõÚ 

ö\»ÂÚ[PÐUS 

(G¢vμzvß ö\»Ä) 

 
14,000 

 

•Põø©¯õÍ›ß 

\®£zvØS 

30,000  

÷©»õÍº PªåÝUS 6,000  

ÁõμõUPhß C¸¨¦ 17,500 

Á¸©õÚ Á› Âv¨¤ØS 2,40,000  

Ez÷u\ £[Q»õ£zvØS 1,00,000  

C/i \©{ø»¨£kzu 3,04,000  

 10,60,000  10,60,000

 Á¸©õÚ Á› ÂvPÎß £i ÷u´©õÚ® ¹.81,000 BS®. 

÷©»õÍ¸US ö\¾zu ÷Ási¯ Fv¯zøuU PnUQkP. 

Or 
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 (b) The following ledger balances were extracted from 
the books of Vanun Ltd as on 31st March 2013. 

  Land and Building Rs. 2,00,000; 12% Debentures 
Rs. 2,00,000; Share capital Rs. 10,00,000 (equity 
shares of Rs.10 each fully paid up); Plant and 
machinery Rs.8,00,000; Good will Rs. 2,00,000; 
Investment in shares of Raja Ltd Rs. 2,00,000; 
General reserve Rs.1,95,000; Stock in trade 
Rs.1,00,000; Bills receivable Rs. 50,000; Debtors 
Rs.1,50,000; Creditors Rs. 1,00,000; Bank loan 
(unsecured) Rs. 1,00,000; Provision for tax  
Rs. 50,000; Proposed dividend Rs. 55,000. Prepare 
the Balance sheet of the company. 

  2013 ©õºa 31 B® vPv¯ßÖ ÁõÝß ¼ªöhm 

{ÖÁÚzvß ¦zuP[PÎÀ C¸¢x ¤ßÁ¸® ÷£÷μmk 

C¸¨¦PÒ ¤›zöukUP¨£mhÚ. {»® ©ØÓ® Pmih® 

¹.2,00,000; 12% Phß £zvμ[PÒ ¹.2,00,000; £[S 

‰»uÚ® ¹.10,00,000 (£[SPÒ JÆöÁõßÖ® 

•Êø©¯õP ö\¾zu¨£mh ¹.10); Bø» ©ØÖ® 

C¯¢vμ[PÒ ¹.8,00,000; |Øö£¯º ¹.2,00,000; μõáõ 

¼ªöhm {ÖÁÚzvß £[SPÎÀ •u½k ¹.2,00,000; 

ö£õx C¸¨¦ ¹.1,95,000; ÁºzuPzvÀ £[S 

¹.1,00,000; ¹.50,000 ö£ÓUTi¯ Esi¯ÀPÒ; 

PhÚõÎPÒ ¹.1,50,000; PhßöPõkzuÁºPÒ 

¹.1,00,000; Á[QUPhß (£õxPõ¨£ØÓx) ¹.1,00,000; 

Á› ¹.50,000 & UPõÚ JxURk; Ez÷u\ £[Q»õ£©õP 

¹.55,000. {ÖÁÚzvß C¸¨¦{ø»U SÔ¨ø£z 

u¯õ›UPÄ®. 

15.  (a) Explain the various methods of calculating 
purchase consideration.  

  öPõÒ•uÀ £›^»øÚ PnUQk® £À÷ÁÖ •øÓPøÍ 

ÂÍUSP. 

Or 
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 (b) X Co Ltd agreed to acquire the assets excluding 

cash as on 31st December 2013 of Y Co Ltd. The 

Balance sheet of Y Ltd as on that date was: 

Equity Capital of Rs. 10 each

General Reserve 

3,00,000

 80,000

Good will 

Land and Building 

Plant and Machinery

60,000

1,20,000

2,00,000

Debentures 50,000 Stock 80,000

Creditors 10,000 Debtors 30,000

Profit &Loss a/c 60,000 Cash 10,000

 5,00,000 5,00,000

  The consideration was as follows:  

  (i) A cash payment of Rs.4 for every shares of Y 

Ltd. 

  (ii) The issue of our share of Rs.10 each (market 

value of Rs.12.50) in the X company Ltd for 

every shares in Y Co Ltd. 

  (iii) The issue of 1,100 debentures of Rs.50 each in 

X Co Ltd to enable Y ltd to discharge its 

debentures at a premium of 10%. 

  (iv) The expenses of liquidation of Y Ltd Rs.4,000 

was to be met by themselves. 

  Give necessary Ledger Account in the books of Y 

Ltd. 
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 J´÷Põ¼ ¼ªöhm {ÖÁÚzvß 31 i\®£® 2013 Áøμ 

öμõUP® uÂºzx ö\õzxUPøÍ Áõ[P GUì ÷Põ ¼ªöhm 

J¨¦UöPõshx. A¢u ÷uv°À J´ ¼ªöhmiß C¸¨¦ 

{ø»USÔ¨¦: 

£[S ‰»uÚ® u»õ ¹.10 3,00,000 |À» Â¸¨£® 60,000

ö£õx JxUS  80,000 Põo ©ØÖ® Pmih® 1,20,000

Phß £zvμ[PÒ 

PhßöPõkzuÁºPÒ 

50,000 
10,000 

Bø» ©ØÖ® C¯¢vμ[PÒ

Ai©μ® 

2,00,000
80,000

C»õ£® ©ØÖ® |mh PnUS 60,000 PhÚõÎPÒ 30,000

  öμõUP® 10,000

 5,00,000  5,00,000

 £›^»øÚ ¤ßÁ¸©õÖ: 

 (i) J´ ¼ªöhmiß JÆöÁõ¸ £[SPÐUS® ¹.4 

öμõUP©õP ö\¾zxuÀ 

 (ii) G[PÒ £[S u»õ ¹.10 (\¢øu ©v¨¦ ¹.12.50) 

J´÷Põ¼ªöhm 

 (iii) GUì ÷Põ ¼ªöhmiÀ u»õ ¹.50 GßÓ 1,100 Phß 

£zvμ[PÒ öÁÎ±k J´ ¼ªöhm Auß Phß 

£zvμ[PøÍ 10% ¤Ÿª¯zvÀ ÂkÂUP EuÄ®. 

 (iv) J´ ¼ªöhm {ÖÁÚzvß Pø»¨¦a ö\»ÄPÒ ¹.4,000 

uõ[P÷Í {øÓ÷ÁØÓ¨£h ÷Ásk®. ÷uøÁ¯õÚ 

ö»máº PnUøP J´.GÀ.Bº.i.°ß ¦zuP[PÎÀ 

öPõkUPÄ®. 
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                                          Part C                             (3  10 = 30) 

Answer any three questions. 

16. Sun Shine Company limited was newly formed with an 
authorized capital of Rs. 5,00,000 divided into 50,000 
equity shares of Rs. 10 each. The company issued 25,000 
equity shares at a premium of Rs. 1 per share payable 
Rs.2 on application; Rs.4 on allotment (including 
premium); Rs. 5 on first and final call. 

 Applications for 30,000 shares were received. Directors 
allotted the shares and the excess money received on 
applications was returned. All the shareholders paid the 
allotment and call money except Shri Patil, who failed to 
pay call money on 800 shares. The directors forfeited 
those shares. The forfeited shares were re-issued to  
Shri Mahajan at Rs.9 per share as fully paid. Give 
journal entries including cash transactions. 

 \ßøåß P®ö£Û ¼ªöhm ¦vuõP ¹.5,00,000 

A[RP›UP¨£mh ‰»uÚzxhß 50,000 £[S £[SPÍõP u»õ 

¹.10 ¤›UP¨£mkÒÍx. {ÖÁÚ® 25,000 £[S £[SPøÍ 

J¸ £[SUS ¹.1 ¤Ÿª¯zvÀ ÁÇ[Q¯x. Âsn¨£zvß 

÷£õx ö\¾zu ÷Ási¯x ¹.2; JxURk ¹.4 (¤Ÿª¯® 

Em£h); •uÀ ©ØÖ® CÖv AøÇ¨¤À ¹.5,30,000 

£[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mhÚ. C¯USÚºPÒ 

£[SPøÍ JxUQÚº ©ØÖ® Âsn¨£[PÎÀ ö£Ó¨£mh 

AvP¨£i¯õÚ £n® v¸¨¦ AÝ¨£¨£mhx 800 £[SPÎÀ 

PõÀ £n® ö\¾zuz uÁÔ¯ v¸ £õmjÀ uÂμ AøÚzx 

£[SuõμºPÐ® JxURk ©ØÖ® AøÇ¨¦¨ £nzøu 

ö\¾zvÚº. C¯USÚºPÒ A¢u £[SPøÍ CÇ¢uÚº. 

£Ô•uÀ ö\´¯¨£mh £[SPÒ •Êø©¯õP ö\¾zu¨£mh 

J¸ £[SUS ¹.9 GßÓ Âø»°À ÿ ©PõáÝUS «sk® 

ÁÇ[P¨£mhÚ. öμõUP Á›ÁºzuøÚPÒ EÒÎmh 

SÔ¨÷£miÀ £vÄPøÍ öPõkUPÄ®. 
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17. On 1st July 2015 a company issued 1,000 6% Debentures 

of Rs.100 each (interest is payable 30th June and 31st 

December). The company is allowed to purchase own 

debenture which may be cancelled or kept or re-issued at 

the company’s option. The company made the following 

purchase in the open market: On 31st May 2016, 100 

Debentures  

@ Rs. 98 ex-interest. On 30th September 2017, 50 

Debentures @ Rs. 97 cum interest. The debentures 

purchased on 31st May 2016 were cancelled on 31st 

December 2017. Give Journal entries to record the 

transactions. 

 1 áüø» 2015 AßÖ J¸ {ÖÁÚ® 1,000 6% Phß 

£zvμ[PøÍ u»õ ¹.100 ÁÇ[Q¯x (Ámi áüß 30 ©ØÖ® 

i\®£º 31 B® ÷uv ö\¾zu¨£h ÷Ásk®.) {ÖÁÚzvß 

Â¸¨£zvß £i μzx ö\´¯¨£h»õ® AÀ»x 

øÁzv¸UP¨£h»õ® AÀ»x «sk® öÁÎ°h¨£h»õ®. 

{ÖÁÚ® vÓ¢u \¢øu°À ¤ßÁ¸® öPõÒ•uÀ ö\´ux: 

31 ÷© 2016, AßÖ 100 Phß £zvμ[PÒ ¹.98 •ßÚõÒ Ámi 

30 ö\¨h®£º 2017 B® ÷uv 50 Phß £zvμ[PÒ ¹.97 ©ØÖ® 

EhÚõP Ámi 2016 ÷© 31 B® ÷uv Áõ[P¨£mh Phß 

£zvμ[PÒ  i\®£º 31,2017 AßÖ μzx ö\´¯¨£mhÚ. 

öPõkUPÀ Áõ[PÀPøÍ¨ £vÄ ö\´ÁuØS SÔ¨÷£mk¨ 

£vÄPøÍ ÁÇ[PÄ®. 

18. On 31st March 2017 the balance sheet of a company 
disclosed the following position:  

40000 equity shares of   Goodwill 40, 000

Rs.10 each 4,00,000 Other fixed assets 5,00,000
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General Reserve 90,000 Current assets 2,00,000

Profit and loss account 20,000  

10% Debentures 1,00,000  

Current liabilities 1,30,000  

 7,40,000  7,40,000

 31st March 2017 the goodwill of the company was valued 

at Rs. 50,000 while other fixed assets were valued at Rs. 

3,50,000. The net profit earned by the company amounted 

to Rs. 51,600 for 2014-2015; Rs.52,000 for 2015-2016; Rs. 

51,650 for 2016-2017. Every year an amount equal to 20 

percent of the profit earned every year was transferred 

the general reserve. It is considered reasonable in the 

business in which the company is engaged. A 10 percent 

return on investment is considered reasonable by the 

industry. Compare the value of a company’s share by 

yield value and intrinsic value method. 

 ©õºa 31, 2017 J¸ {ÖÁÚzvß C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸® {ø»ø¯ öÁÎ¨£kzv¯x: 

40000 £[SPÒ   |Àö»sn® 40, 000

JÆöÁõßÖ® ¹.10  4,00,000 ©ØÓ {ø»¯õÚ 

ö\õzxUPÒ 

5,00,000

ö£õx C¸¨¦ 90,000 uØ÷£õøu¯ 

ö\õzxUPÒ 

2,00,000

C»õ£ |mhU PnUS 20,000  

10% Phß £zvμ[PÒ 1,00,000  
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uØ÷£õøu¯ 

ö£õÖ¨¦PÒ 

1,30,000  

 7,40,000  7,40,000

 31 ©õºa 2017 {ÖÁÚzvß |Øö£¯º ©v¨¦ ¹.50,000 BPÄ® 

©ØÓ {ø»¯õÚ ö\õzxUPÎß ©v¨¦ ¹.3,50,000 BPÄ® 

C¸¢ux. {ÖÁÚ® Dmi¯ {Pμ»õ£® 2014&2015 B® 

BskUS ¹.51,600 BP C¸¢ux. 2015&2016 B® BskUS 

¹.52,000; 2016 & 2017 B® BskUS ¹.51,650BS®. 

JÆöÁõ¸ Bsk® Dmh¨£k® »õ£zvÀ 20 \uÃuzvØS 

\©©õÚ öuõøP ö£õx C¸¨¦US ©õØÓ¨£mhx. {ÖÁÚ® 

Dk£mkÒÍ ÁoPzvÀ Cx {¯õ¯©õÚuõPU P¸u¨£kQÓx. 

•u½miÀ 10 \uÃu® »õ£® Gß£x öuõÈÀxøÓ¯õÀ 

{¯õ¯©õÚuõPU P¸u¨£kQÓx. ÂøÍa\À ©v¨¦ ©ØÖ® 

EÒÍõº¢u ©v¨¦ •øÓ ‰»® J¸ {ÖÁÚzvß £[Qß 

©v¨ø£ J¨¤kP. 

19. Big & Co Ltd is a company with an authorised capital of 
Rs.5,00,000 divided into 5000 Equity share of Rs.100 
each. On 31.3.2018, 2500 shares were fully called up. The 
following are the balances extracted from the ledger of 
the company as on 31.3.2018 

 Rs.  Rs. 

Stock 50,000 Advertising 14,300

Debtors 38,700 Sales 4,25,000

Purchases 3,00,000 Creditors 35,200

Wages (productive) 70,000 Plant and Machinery 
80,500

Discount allowed 4,200  

Discount received 3,150 Furniture 17,100

Insurance upto 
30.06.2018 

6,720 Cash and Bank 1,34,700
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Salaries 18,500 Reserve 25,000

Rent 6,000 Loan from managing 
director 15,700

General Expenses 8,950 Bad debts 3,200

Profit and Loss a/c 6,220 Calls in arrears 5,000

  Printing and Stationery 2,400

 You required to prepare Trading and Profit and Loss 
account for the year ended 31.3.2018 and the Balance 
sheet as on that date of the company. The following 
further information is given: (a) Closing stock Rs. 91,500 
(b) Depreciation to be charged on Plant & Machinery and 
furniture at 15% and 10% respectively. (c) Outstanding 
Liabilities — wages Rs.5,200; Salary Rs.1,200 and Rent 
Rs.600 (d) Dividend @ 5% on paid up share capital is to 
provided. (e) Corporate dividend tax @10% is to be 
provided. 

¤U Asm ÷Põ¼ªöhm {ÖÁÚ® A[RP›UP¨£mh 

‰»uÚ©õP ¹.5,00,000 I 5000 DUÂmi £[PõP u»õ ¹.100 

GßÖ ¤›UQÓx. 31.3.2018 AßÖ 2500 £[SPÒ •Êø©¯õP 

AøÇUP¨£mhÚ. 31.3.2018 AßÖ {ÖÁÚzvß 

÷£÷μmi¼¸¢x ö£Ó¨£mh C¸¨¦PÒ ¤ßÁ¸©õÖ 

 ¹.  ¹. 

Ai©μ® 50,000 ÂÍ®£μ® 14,300

PhÚõÎPÒ 38,700 ÂØ£øÚ 4,25,000

öPõÒ•uÀ 3,00,000 Phß öPõkzuÁºPÒ 35,200

T¼ (EØ£zv) 70,000 Bø» ©ØÖ® C¯¢vμ[PÒ 80,500

uÒÐ£i 

AÝ©vUP¨£mhx 

4,200 umk •mk¨ ö£õ¸mPÒ 17,100

uÒÐ£i ö£Ó¨£mhx 3,150 öμõUP® ©ØÖ® Á[Q 1,34,700

30.06.2018 Áøμ Põ¨¥k 6,720 JxUQøÁ 25,000
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 ¹.  ¹. 

\®£Í® 18,500 {ºÁõP C¯US|›hª¸¢x 

Phß 

15,700

ÁõhøP 6,000 ÁõμõUPhß 3,200

ö£õx ö\»ÄPÒ 8,950 {¾øÁ AøÇ¨¦PÒ 5,000

C»õ£ |mh® A/C 6,220 Aa]kuÀ ©ØÖ® GÊx 

ö£õ¸Ò 

2,400

 31.3.2018 Ehß •iÁøh¢u BskUPõÚ ÁºzuP ©ØÖ® 

C»õ£ |mhU PnUøP²® {ÖÁÚzvß A¢u ÷uv°À C¸¨¦ 

{ø»U SÔ¨ø£²® }[PÒ u¯õ›UP ÷Ásk®. ¤ßÁ¸® 

÷©»vP uPÁÀPÒ öPõkUP¨£mkÒÍÚ.  

 (A) CÖv£[S ¹.91,5000 

(B) •øÓ÷¯ 15% ©ØÖ® 10% GßÓ ÂQuzvÀ Bø» ©ØÖ® 

C¯¢vμ[PÒ ©ØÖ® uÍ£õh[PÒ «x ÂvUP¨£k® 

÷u´©õÚ®. 

 (C) {¾øÁ¨ ö£õÖ¨¦PÒ & T¼ ¹.5,200; \®£Í® ¹.1,200 

©ØÖ® ÁõhøP ¹.600 

 (D) ö\¾zu¨£mh £[S ‰»uÚzvÀ 5% @ iÂöhßm 

ÁÇ[P¨£h EÒÍx 

 (E) Põº¨£÷μmiÂöhßm Á› @ 10% ÁÇ[P¨£h 

÷Ásk®. 

20. P. Co Ltd and Q Co Ltd agreed to amalgamate by 

transferring their undertakings to a new company  

PQ Co., Ltd formed for that purpose on 31.12.2019 

Balance sheet of the respective companies were as under 

Liabilities P Ltd  Q Ltd Assets P Ltd Q Ltd 

Share capital 3,000  2,400 Furniture 900 630
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Reserve –  150 Debtors 1,410 1,800

Profit and loss a/c –  360 Bank 1,836 1,224

Creditors 1,290  744 Profit and 144 –

   loss a/c   

 4,290 3,654  4,290 3,654 

 (a) The assets of P. co Ltd are taken at book value 
except furniture which is to be written down by 
Rs.306. 

 (b) Assets of Q Co Ltd are to be taken at book value 
except debtors which are considered to be worth 
Rs.990. 

 (c) The share capital of the combined company is to be 
240 preference shares of Rs.10 each fully paid and 
50 ordinary shares of Rs.45 each fully paid. The 
allocation of the shares is equal except that the 
surplus capital of P Co Ltd is to be satisfied in 
preference shares.   
The remaining purchase consideration is paid in 
cash. Show the balance sheet of the new company as 
on 31.12.2019 and the details of the exchange of 
shares. 

  P. Co ¼ªöhm ©ØÖ® U³÷Põ¼ªöhm BQ¯øÁ 

u[PÒ {ÖÁÚ[PøÍ AßÖ E¸ÁõUP¨£mh J¸ ¦v¯ 

{ÖÁÚ©õÚ ¤U³÷Põ¼ªöhm {ÖÁÚzvØS 

©õØÖÁuß ‰»® J¸[QønUP J¨¦UöPõshÚ. 

 

ö£õÖ¨¦UPÒ P 
Ltd 

  Q 
Ltd  

ö\õzx P 
Ltd 

 Q 
Ltd  

£[S 

‰»uÚ® 

3,000  2,400 ö£õÖzxPÒ 900 630

JxURk –  150 PhÚõÎPÒ 1,410 1,800
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C»õ£ |mh® 

PnUS 

–  360 Á[Q 1,836 1,224

Phß D¢÷uõº 1,290  744 C»õ£ 

|mh®  

144 –

    PnUS   

 4,290  3,654  4,290 3,654

(A) ¤.÷Põ. ¼ªöhm {ÖÁÚzvß ö\õzxUPÒ ¹.306. 

  (B) GÊu¨£h ÷Ási¯ uÍ£õh[PÒ uÂμ ¦zuP 

©v¨¤À GkzxUöPõÒÍ¨£kQßÓÚ. ¹.990 

©v¨¦ÒÍuõuU P¸u¨£k® xøÓzxøÓPøÍz 

uÂμ U³÷Põ¼ªöhmiß ö\õzxUPÒ ¦zuP 

©v¨¤À GkUP¨£m ÷Ásk®. 

  (C) ö©õzu {ÖÁÚzvß £[S ‰»uÚ® 240 

•ßÝ›ø©¨ £[SPÍõP ¹.10 ®, 50 \õuõμn¨ 

£[SPÒ u»õ ¹45® •Êø©¯õP ö\¾zu¨£m 

÷Ásk®. ¤÷Põ¼ªöhmiß E£› ‰»uÚ® 

•ßÝ›ø© £[SPÎÀ v¸¨v¯øh¯ ÷Ásk® 

Gß£øuz uÂμ £[SPÎß JxURk \©©õS®. 

«u•ÒÍ öPõÒ•uÀ £›^»øÚ öμõUP©õP 

ö\¾zu¨£kQÓx 31.12.2019 AßÖ ¦v¯ 

{ÖÁÚzvß C¸¨¦{ø»ø¯U SÔ¨ø£²® £[S 

£›©õØÓzvß ÂÁμ[PøÍ²® Põs¤. 

   

  

———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2022 

Fifth Semester 

Corporate Secretaryship 

ECONOMIC LAWS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is licensing of industrial undertakings. 

 öuõÈØxøÓ {ÖÁÚ[PÐUS E›©® ÁÇ[SÁx GßÓõÀ 
GßÚ? 

2. Define offences under Industrial Policy, 1991. 

 öuõÈØxøÓ öPõÒøP 1991 £i SØÓ[PøÍ Áøμ¯Ö. 

3. Define agreement under Competition Act, 2002. 

 ÷£õmi \mh® 2002 RÌ J¨£¢uzøu Áøμ¯Ö. 

4. What is Unfair Trade Practices? 

 •øÓ¯ØÓ ÁºzuP |øh•øÓPÒ GßÓõÀ GßÚ? 

5. Define foreign security. 

 öÁÎ|õmk ö\õzx Gß£øu Áøμ¯Ö. 

6. What is capital account transaction? 

 |h¨¦ PnUS |hÁiUøP GßÓõÀ GßÚ? 

Sub. Code 
7BCS5C3 
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7. What is consumerism? 

 ~Pº÷Áõº GßÓõÀ GßÚ? 

8. What is right to consumer education? 

 ~Pº÷Áõº PÀÂ E›ø© GßÓõÀ GßÚ? 

9. Define Environment. 

 _ØÖa`ÇÀ Áøμ¯Ö. 

10. Who is an occupier? 

 BUQμª¨£õÍº Gß£Áº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Discuss the role of IRDA, 1951. 

  IRDA 1951&ß £[S Gß£øÚ ÂÁõvUP. 

Or 

 (b) Discuss the different types of licensing. 

  £À÷ÁÖ ÁøP¯õÚ E›©[PøÍ ÂÁõvUP. 

12. (a) Explain prohibition of Anti Competitive Agreement. 

  ÷£õmi Gvº¨¦ J¨£¢uzvß uøhø¯ ÂÍUSP. 

Or 

 (b) State the factors considered while deciding the 
effect of competition. 

  ÷£õmi°ß ÂøÍÂøÚ wº©õÛUS® ÷£õx 
P¸u¨£k® PõμoPøÍ TÖP. 
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13. (a) List the current account transactions under FEMA, 
1999. 

  FEMA 1999&ß RÌ |h¨¦ PnUQß |hÁiUøPPøÍ 
£mi¯¼kP. 

Or 

 (b) Discuss regulation and management of foreign 
exchange. 

  A¢{¯ ö\»Áõo°ß Pmk¨£õk ©ØÖ® 
÷©»õsø©ø¯ ÂÁõvUP. 

14. (a) Highlight the features of Consumer Protection Act, 
1986. 

  ~Pº÷Áõº £õxPõ¨¦ \mh® 1986À EÒÍ A®\[PøÍ 
•ßÛø»¨£kzxP. 

Or 

 (b) List down the powers of Consumer Protection 
Council. 

  ~Pº÷Áõº £õxPõ¨¦ \ø£°ß AvPõμzøu 
•ßÛø»¨£kzxP. 

15.  (a) Highlight the powers of Environmental Authority. 

  _ØÖ`ÇÀ AvPõμ\ø£°ß AvPõμzøu 
•ßÛø»¨£kzxP. 

Or 

 (b) Explain the rules to regulate Environmental 
Pollution. 

  _ØÖ`ÇÀ ©õ_¨£õmøh Pmk£kzx® ÂvPøÍ 
ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the provisions of Industrial Policy, 1991 

 öuõÈØxøÓ öPõÒøP 1991&À EÒÍ ÂvPøÍ ÂÁ›UP. 

17. Explain the different types of Combinations under 
Competition Act, 2002. 

 ÷£õmi \mh® 2002 £i £À÷ÁÖ ÁøP¯õÚ ÷\ºUøPPøÍ 
ÂÍUSP. 

18. Enumerate the procedure of export of goods and services. 

 HØÖ©v ö£õ¸mPÒ ©ØÖ® ÷\øÁPÎß |øh•øÓPøÍ 
PnUQkP. 

19. Discuss Consumer Grievances Redressal Mechanism 
under Consumer Protection Act, 1986. 

 ~Pº÷Áõº £õxPõ¨¦ \mh® 1986ß £i ~Pº÷Áõº 
SøÓPøÍ wºUS® ÁÈ•øÓPøÍ¨ £ØÔ ÂÁõvUP. 

20. Explain the procedure for prevention control and 
abatement of Environmental Pollution. 

 _ØÖa`ÇÀ ©õ_£õmøhz uk¨£x Pmk¨£kzxÁx ©ØÖ® 
SøÓ¨£uØPõÚ ÁÈ•øÓPøÍ ÂÍUSP. 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is the meaning of residential status in Income Tax? 

 Á¸©õÚ Á›°À Si°¸¨¦ {ø» Gß£uß ö£õ¸Ò GßÚ? 

2. How is residential status calculated on income taxes? 

 Á¸©õÚ Á›°ß Ai¨£øh°À Si°¸¨¦ {ø» GÆÁõÖ 

PnUQh¨£kQÓx? 

3. How do you calculate House Property Income? 

 Ãmk ö\õzx Á¸©õÚzøu GÆÁõÖ PnUQkÁx? 

4. How do you declare income from house property? 

 Ãmk ö\õzx ‰»® Á¸©õÚ® G¨£i AÔÂUQÕºPÒ? 

5. Whatever are not allowed while calculating income from 
business? 

ÁoPzvÀ C¸¢x Á¸©õÚzøu PnUQk® ÷£õx 

AÝ©vUP¨£hõuøÁ GøÁ? 

Sub. Code 
7BCSE1A 
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6. What expenses are disallowed? 

 GßÚ ö\»ÄPÒ AÝ©vUP •i¯õx? 

7. What are the four main types of aggregate income? 

 |õßS •UQ¯ ÁøP Tmk Á¸©õÚ[PÒ ¯õøÁ? 

8. How do you avoid clubbing incomes? 

 Á¸©õÚ[PÒ GÆÁõÖ Tmk ÁøP ö\´Áøu uÂºUQÕºPÒ? 

9. What is Assessment in income tax? 

 Á¸©õÚ Á› ©v¨¥k GßÓõÀ GßÚ? 

10. What are the different types of assessments? 

 £À÷ÁÖ ÁøP¯õÚ ©v¨¥kPÒ ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mr. X left 15 years for Japan on 15th March, 2019 
after staying in India for he came back on 31st 
August 2021. Determine his residential status for 
the Assessment year 2022-2023. 

   v¸. X 15 BskPÒ Âmk 2021 B® Bsk BPìm 

©õu® 31 B® ÷uv C¢v¯õÄUPõP u[Q°¸¢u ¤ßÚº 

©õºa 15 2019 AßÖ á¨£õÝUS AÁº v¸¨¤ Á¢uõº. 

2022&23 B® ©v¨¥mk BskUPõÚ AÁμx 

Si°¸¨¦ {ø»ø¯z wº©õÛUPÄ®. 

Or 
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 (b) Ascertain the residential status of the Assesses in 
the following cases for the Assessment Year  
2022-23. 

  (i) Ajay is a citizen of India he left for Iran on 18th 
April 2021 and could not return to India till 
the end of the financial year 2021-22. 

  (ii) Gautam left for U.S.A. on 10thMarch 2019 
after having lived in India for 20 years. He 
returned to India on 10th September 2021. 

   2022&23B® BsiØPõÚ ©v¨¥mk BsiØPõÚ 

¤ßÁ¸® ÁÇUSPÎÀ ©v¨¥mhõÍºPÎß Si°¸¨¦ 

{ø»ø¯ EÖv¨£kzxuÀ. 

   (i) Aá´ C¢v¯ Si©Pß 2021 H¨μÀ 18 B® ÷uv 

Dμõß ö\ßÓ AÁº 2021&22 {v¯õsiß CÖv 

Áøμ C¢v¯õ v¸®£ •i¯ÂÀø». 

   (ii) 20 BskPÒ C¢v¯õÂÀ ÁõÌ¢u PÄu® ©õºa 

10&2019 AßÖ Aö©›UPõ ö\ßÓõº. AÁº 

ö\¨h®£º 10,2021 AßÖ C¢v¯õ v¸®¤Úõº. 

12. (a) Following particulars are furnished by Mr. Vasanth 
citizen and resident of India. 

(i) Basic salary after deduction of contribution to 
R.P.F. Rs.2,40,000 

(ii) HRA (the house is at kolar and rent paid 
amount to Rs.30,000) Rs.14,400. 

(iii) Own contribution to R.P.F. Rs.20,000 

(iv) Interested credited to  R.P.F. @ 9.5% Rs.3,600 
and 

(v) Unit-Linked insurance plan contribution paid 
by employer Rs.2,000 
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Compute the taxable income from salary of Mr. 
Vasanth for the Assessment year 2022-23. 

   ¤ßÁ¸® ÂÁμ[PÒ v¸. Á\¢z, J¸ Si©Pß ©ØÖ® 

C¢v¯õÂÀ Á]¨£Áº. 

   (i) R.P.F ¹.2,40,000 £[PÎ¨¦ ¤izu® ¤ÓS 

Ai¨£øh \®£Í®  

   (ii) Ãmk ÁõhøP¨£i (Ãk ÷Põ»õº ©ØÖ® ÁõhøP 

ö\¾zv¯ öuõøP ¹.30,000) ¹.14,400 

   (iii) R.P.F ¹.20,000 US ö\õ¢u £[PÎ¨¦ 

   (iv) ÁμÄ øÁUP¨£mh Ámi R.P.F @ 9.5% ¹.3,600 

©ØÖ® 

   (v) ³Ûm ¼[Uk Cß`μßì vmhzvÀ •u»õÎ 

‰»® £[PÎ¨¦ øÁUP¨£mhx ¹.2,000. 

(ö\¾zvÚõº) 

   2022&23 B® ©v¨¥mk BsiØPõÚ v¸ Á\¢vß 

\®£Ízv¼¸¢x Á›ÂvUPuUP Á¸©õÚzøu 

PnUQkP. 

Or 

 (b) Mr. Ram Gopal, an employee in a company is 
drawing Rs.9,000 p.m. as salary plus 10% of his 
salary as clearness allowance pay. He is getting 
entertainment allowance of Rs.1,000 p.m. He has 
spent Rs.5,000 on entertainment of the company’s 
customer. He is provided with a rent-free 
unfurnished house at allahabad of the fair rental 
value of Rs.2,000 p.m. The house is owned by the 
use and all the expenses of its maintenance and 
running are met by the company. Find out his 
taxable salary for the assessment year 2022-23.  

   J¸ {ÖÁÚzvÀ FÈ¯μõP C¸US® v¸ μõ® ÷Põ£õÀ 

APÂø»¨£i Fv¯©õP ¹.9,000 Ãu® ©õu® \®£Í® 

©ØÖ® AÁμx \®£ÍzvÀ 10% ö£ÖQÓõº. AÁº 

¹.1,000 “ö£õÊx÷£õUS£i” ö£ÖQÓõº. AÁº 

{ÖÁÚzvß ÁõiUøP¯õÍºPÎß ö£õÊx÷£õUS 

¹.5,000 ö\»ÁÈzxÒÍõº. AÁ¸US A»Põ£õzvÀ 

¹.2,000 {¯õ¯©õÚ ÁõhøP ©v¨¤À ÁõhøP CÀ»õu 

Ãk ÁÇ[P¨£kQÓx. C¢u Ãk £¯ß£õmiØS 
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ö\õ¢u©õÚx ©ØÖ® Auß £μõ©›¨¦ ©ØÖ® 

C¯UPzvØPõÚ AøÚzx ö\»ÄPÐ® {ÖÁÚzuõÀ 

§ºzv ö\´¯¨£kQßÓÚ. 2022&23 ©v¨¥mk 

BsiØPõÚ AÁμx Á›ÂvUPuUP \®£Ízøu 

PshÔ¯Ä®. 

13. (a) Discuss in detail the provisions of Section 80 ID. 

   ¤›Ä 80 I i °ß ÂvPøÍ¨ £ØÔ Â›ÁõP ÂÁõvUP. 

Or 

 (b) Mr. X has the following income for the previous year 
ended 31st March 2022. 

  (i) Business profit Rs.2,50,000 

  (ii) Short-term capital gain Rs.12,000 

  (iii) Long-term capital gain relating to Land 
Rs.3,18,000 

  (iv) LTCG Rs.10,000 on other capital assets. 

  (v) Compensation for loss of agency Rs.24,000 

  (vi) LTC Loss on sale of another capital assets 
Rs.16,000 

  Compute the total income of the individual for the 
assessment year 2022-23. 

   v¸. X •¢øu¯ BskUS ¤ßÁ¸® Á¸©õÚzøu 

©õºa 31, 2022 Ehß •izuõº. 

   (i) ÁoP C»õ£® ¹.2,50,000 

   (ii) SÖQ¯ Põ» ‰»uÚ Buõ¯® ¹.12,000 

   (iii) {»® öuõhº£õÚ }shPõ» ‰»uÚ Buõ¯® 

¹.3,18,000 

   (iv) }sh Põ» ‰»uÚ Buõ¯® ©ØÓ ‰»uÚ 

ö\õzxUPÎÀ ¹.10,000 

   (v) Höáß] CÇ¨¦UPõÚ CÇ¨¥k ¹.24,000 
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   (vi) ©ØöÓõ¸ ‰»uÚ ö\õzxUPøÍ ÂØÓvÀ 

}shPõ» ‰»uÚ CÇ¨¦ ¹.16,000  

   2022-23 B® BsiØPõÚ ©v¨¥mk BsiØPõÚ 

uÛ|£›ß ö©õzu Á¸©õÚzøuU PnUQkP. 

14. (a) Royal Brothers of Bijipur, submit the following 
particulars, for computing the income for the 
assessment year 2022-23. 

 Rs. 

Loss from business before depreciation 20,000

Depreciation Allowable 6,000

Income from house property (computed) 18,000

Interest on securities 1,00,000

Income from other sources 20,000

Brought forward business loss from A.Y. 2022-23 50,000

Unabsorbed depreciation for A.Y 2022-23 80,000

Brought forward loss of house property from 
assessment Year 2022-23 

10,000

You are required to compute the gross total income 
for the A.Y. 2022-23.  

   2022&23 B® BsiØPõÚ ©v¨¥mk BskUPõÚ 

Á¸©õÚzøu PnUQkÁuØPõP ¤â¨§›ß Cμõ¯À 

¤μuºì. ¤ßÁ¸® Â£μ[PøÍ \©º¤UPÄ®. 

 Rs. 

÷u´©õÚzvØS •ß¦ ÁoPzv¼¸¢x CÇ¨¦ 20,000

÷u´©õÚ® 6,000

Ãmk ö\õzx 18,000

ö\U³›miì «x Cøh±k 1,00,000

©ØÓ Buõμ[PÎÀ C¸¢x Á¸©õÚ® 20,000
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A.Y 2022-23 •uÀ ÁoP CÇ¨¦PøÍ •ßøÁzux 50,000

A.Y 2022-23 UPõÚ EÔg\¨£hõu ÷u´©õÚ®  80,000

A.Y 2022-23•uÀ Ãmk ö\õzx CÇ¨¦ 10,000

   •ß÷ÚõUQ öPõsk Á¢ux. }[PÒ A.Y  
2022-23&UPõÚ ö©õzu Á¸©õÚzøu PnUQh 

÷Ásk®. 

Or 

 (b) The business income of an individual for the 
assessment year 2022-23 has been determined by 
the assessing officer at Rs.3,50,000 late it is found 
that he has not considered the following while 
determine the income. 

  Rs. 

(i) Depreciation for the current year 12,000

(ii) Unabsorbed depreciation carried forward 15,000

(iii) Unabsored business loss carried forward form A.Y. 2022-
23 

3,000

  Determine the total income for the assessment year 
2022-23. 

  2022-23 B® BsiØPõÚ ©v¨¥mk BsiØPõÚ J¸ 

uÛ|£›ß ÁoP Á¸©õÚ® ¹.3,50,000 GßÖ 

©v¨¥mk AvPõ›¯õÀ wº©õÛUP¨£mkÒÍx. 

uõ©u©õP AÁº Á¸©õÚzøu Q¸ª}UP® ö\´²® 

÷£õx ¤ßÁ¸ÁÚÁØøÓ £›^¼UPÂÀø» GßÖ 

PshÔ¯¨£mkÒÍx. 
  Rs. 

(i) |h¨¦ BskUPõÚ ÷u´©õ® 12,000

(ii) EÔg\¨£hõu ÷u´©õÚ® •ßöÚkzx ö\ßÓx 15,000

(iii) ©v¨¥mk Bsk 2022-23 •uÀ EÔg\¨£hõu ÁoP CÇ¨¦ 

•ß÷ÚõUQ öPõsk ö\À»¨£mhx  

3,000

  2022-23 B® BsiØPõÚ ©v¨¥mk Bsiß ö©õzu 

Á¸©õÚzøu wº©õÛUPÄ®. 
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15.  (a) What is Assessment? And its importance. 

   ©v¨¥k GßÓõÀ GßÚ? Auß •UQ¯zxÁzøu 

ÂÍUSP. 

Or 

 (b)  What are the procedures of Regular Assessment? 

   ÁÇUP©õÚ ©v¨¥miß |øh•øÓPøÍ ÂÁ›.  

 Part C  (3  10 = 30) 
Answer any three questions. 

16.  Explain the provisions of Residential Status and income 
exempt from tax. 

Si°¸¨¦ {ø» ©ØÖ® Á›Â»US Á¸©õÚ ÂvPøÍ 

ÂÍUSP. 

17.  Mr. X has two houses. First, whose municipal valuation is 
Rs. 37,500 is kept by him for own residence and the 
second whose municipal valuation is Rs. 50,000 has been 
out Rs. 5,000 p.m. 

 Following are the expenses relating to these two houses 
 1st House 

Rs. 
2nd House 

Rs. 

Municipal tax 12,000 20,000

Land Revenue 200 250

Interest on loan taken for  
construction of the house 64,000 4,200

Fire insurance premium 900 2,400

 Compute Mr. X’s income from house property for A.Y. 
2022-23. 

v¸. X&US Cμsk ÃkPÒ EÒÍÚ. •u»õÁuõP |Pμõm] 

©v¨¥k ¹. 37,500 AÁμx ö\õ¢u Si°¸¨¦UPõP 

øÁUP¨£kQÓx. CμshõÁx |Pμõm] ©v¨¥k ¹. 50,000,  

¹. 5,000 Ãu® ©õu® øÁUP¨£mkÒÍx. 
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 1Áx Ãk

¹. 

2Áx Ãk

¹. 

|Pμõm] Á› 12,000 20,000

{» Á¸Áõ´ 200 250

Ãmk £μõ©›¨¦ (©Ö) Áõ[Q¯  

PhÝUPõP Ámi 64,000 4,200

w Põ¨¥k ¤›ª¯® 900 2,400

©v¨¥mk Bsk 2022&23&UPõÚ Ãmk ö\õzvÀ C¸¢x  

v¸ X&ß Á¸©õÚ® PnUQhÄ®. 

18.  Shri N.C. Sharma is a Lawyer. He has prepared following 
income and expenditure accounts for the year ending  
31st March 2022 : 

 Rs.  Rs. 

Opening balance 
Fees received 

1,892 
2,40,000 

Book purchased  
(Annual publication) 800

Salary as a part time 
lecturer 

 
3,600 

Repairs to house 
Local taxes 10% 

1,200
600

Exam : Remuneration from 
university 

 
2,300 

Maintenance exp. of car 
Office expenses 

2,000
4,000

Interest on Bank deposit 1,200 Domestic expenses 1,20,000

Amount received on car sold 
Share sold 

18,000 
16,000 

Plant purchased for office 
use 700

Dividend received  1,540 Car purchased 25,000

  LIC 5,000

  Donation to recognised 
institutions 1,200

  Gift to married daughter 400

  Income tax 3,500

  Assessment expenditure 200

  Bank deposit 13,000

  Public provident fund 4,000

  Balance c/d 1,02,932

 2,84,532  2,84,532
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 Additional information : 

 (a)  1/3 part of building is used for professional and 2/3 
for Self Residence 

 (b)  The Car is used in profession and personal work 
equally 

 (c)  Books purchased for teaching Rs. 200 and 
remaining for profession 

  Compute Mr. Shri N.C. Sharma’s professional income. 

 v¸. ÿ N.C. \º©õ AÁº J¸ ÁÇUPÔbº ©ØÖ® AÁμx 

μ^xPÒ ©ØÖ® £n® ö\¾zx® PnUSPÒ ¤ßÁ¸©õÖ. 

 ¹.  ¹. 

öuõhUP C¸¨¦ 1,892 Á¸hõ¢vμ öÁÎ±k 800

Áõ[Q¯ ¦zuP[PÒ 2,40,000 Ãmiß £Êx £õºzuÀ 1,200

£Sv ÷|μ Á›Äøμ¯õÍμõP 

\®£Í® 

 
3,600 

EÒÑº Á›PÒ 10% 

£μõ©›¨¦ GUì¤ BL¨ Põº 

600
2,000

£ÀPø»UPÇPzvÀ C¸¢x 

÷uºÄ Fv¯® 

 
2,300 

A¾Á»P ö\»ÄPÒ 

EÒ|õmk ö\»ÄPÒ 

4,000
1,20,000

Á[Q øÁ¨¦PÐUPõÚ Ámi 

Põº «x ö£Ó¨£mh öuõøP 

1,200 
18,000 

A¾Á»P® Áõ[P¨£mh 

Bø» 700

ÂØP¨£mh £[SPÒ 16,000 Põº Áõ[Q¯x 25,000

£[Põuõ¯® ö£ØÓx 1,540 B²Ò Põ¨¥mk ¤›ª¯® 5,000

  A[RP›UP¨£mh 

{ÖÁÚzvØS |ßöPõøh 1,200

  v¸©n©õÚ ©PÐUS £›_ 400

  Á¸©õÚ Á› 3,500

  ©v¨¥mk ö\»ÄPÒ 200

  Á[Q øÁ¨¦ 13,000

  ö£õx Á¸[Põ» øÁ¨¦ {v 4,000

  C¸¨¦ ]/i 1,02,932

 2,84,532  2,84,532

 TkuÀ uPÁÀPÒ : 

 (A) Pmihzvß 1/3 £Sv öuõÈÀ•øÓ ©ØÖ® 2/3 _¯ 

Si°¸¨¦US £¯ß£kzu¨£kQÓx 
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 (B) Põº öuõÈÀ ©ØÖ® uÛ¨£mh ÷Áø»°À \©©õP 

£¯ß£kzu¨£kQÓx 

 (C)  ¹.200 PØ¤¨£uØPõPÄ®, öuõÈ¾UPõP 

«u•ÒÍuØPõPÄ® Áõ[P¨£mh ¦zu[PÒ. 

   v¸. ÿ N.C. \º©õÂß öuõÈÀ•øÓ Á¸©õÚzøu 

PnURk ö\´¯Ä®. 

19.  What are the various deduction from Gross Total Income? 

 ö©õzu Á¸©õÚzv¼¸¢x £À÷ÁÖ Â»USPÒ ¯õøÁ? 

20.  What are the different types of Assessment? – Explain.  

 £À÷ÁÖ ÁøP¯õÚ ©v¨¥kPÒ ¯õøÁ? – ÂÍUSP. 

———————— 
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Elective – COST ACCOUNTING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define: Direct expenditure and indirect expenditure. 

 Áøμ¯ÖP : ÷|μi ö\»ÂÚ® ©ØÖ® ©øÓ•P ö\»ÂÚ®. 

2. What is a Cost Sheet? 

 AhUPÂø»¨£mi¯À GßÓõÀ GßÚ? 

3. What do you understand by Inventory control? 

 \μUQ¸¨¦ Pmk£kzxuÀ GßÓõÀ }Ãº ¦›¢ux GßÚ? 

4. What is a purchase requisition? To whom it is submitted? 

 öPõÒ•uÀ ÷Pm£õøn GßÓõÀ GßÚ? AuøÚ ¯õ›h® 

\©º¤UP¨£h ÷Ásk®? 

5. How do you calculate bonus under  

 (a)  Halsey Plan 

 (b)  Rowan Plan 

 (A) íõÀ] vmh® 

 (B) ÷μõÁß vmhzvß RÌ ÷£õÚøé GÆÁõÖ 

PnUQkÁx? 

Sub. Code 
7BCSE2A 
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6. Give the meaning of Cost Apportionment. 

 AhUPÂø» £QºÄ Gß£uß ö£õ¸Ò u¸P. 

7. What is meant by Job Costing? 

 ÷Áø» AhUPÂø» Gß£uß ö£õ¸Ò GßÚ? 

8. Write notes on ‘Escalation Clause’. 

 Â›ÁõUP Âv Gß£uß SÔ¨¦ GÊxP. 

9. What is inter-process profit? 

 EÒ £i {ø» C»õ£® GßÓõÀ GßÚ? 

10. Write any two differences between Job Costing and 
Process Costing.  

 ÷Áø» AhUPÂø» ©ØÖ® £i{ø» AhUPÂø» Cøh÷¯ 

EÒÍ H÷uÝ® Cμsk ÷ÁÖ£õk u¸P. 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) What are the reasons for disagreement between cost 
and financial accounts? 

  AhUPÂø» ©ØÖ® {vU PnUSPÐUS Cøh°»õÚ 

P¸zx ÷ÁÖ£õmiØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) How would you classify various costs and explain 
each of them brief? 

  £À÷ÁÖ AhUPÂø»ø¯ £ØÔ }[PÒ GÆÁõÖ 

ÁøP¨£kzv AøÁ JÆöÁõßøÓ²® _¸UP©õP 

ÂÍUSP. 
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12. (a) Calculate the Economic Order Quantity: 

  Annual usage - 20,000 units 

  Cost of Materials (per unit) - Rs. 250 

  Cost of placing and receiving order - Rs. 2,000 

  Annual cost of carrying inventory (including 
interest) - 10% of cost 

  ö£õ¸Íõuõμ JÊ[S AÍøÁ PnUQkP. 

  Bsk £¯ß£õk & 20,000 A»SPÒ 

  AhUP \μUQ¸¨¦  (J¸ A»SQØS) & ¹.250 

  AhUPÂø» ÷Põ› Auß‰»® ö£Ó¨£mh Bøn & 

¹.2,000 

  \μUSPøÍ Gkzxa ö\ÀÁuØPõÚ Bsk ö\»Ä (Ámi 

Em£h) & ö\»ÂÀ 10% 

Or 

 (b) The following transactions took place in request of 
Material during the month of September 2015. 

  Sept. – 1 Received 500 Qty Rate per unit 10 

  Sept. – 10 Received 300 Qty Rate per unit 12 

  Sept. – 15 issued 700 Qty 

  Sept. – 20 Received 400 Qty Rate per unit 14 

  Sept. – 25 Issued 300 Qty 

  Sept. – 27 Received 500 Qty Rate per unit 11 

  Sept. – 30 Issued 200 Qty 

  You are request to write up stores Ledger under 
Simple Average Method and Weighted Average Cost 
Method. 
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  ö\¨h®£º 2015 ©õuzvØSPõÚ ö£õ¸ÒPÒ 

÷Põ›UøP°ß |hÁiUøPPÒ ¤ßÁ¸©õÖ. 

  ö\¨h®£º  &  01 ö£ØÓøÁ 500 A»SPÒ J¸ A»Qß 

Âø» ¹.10 

  ö\¨h®£º   &  10 ö£ØÓøÁ 300 A»SPÒ J¸ A»Qß 

Âø» ¹.12 

  ö\¨h®£º   &  15 ÁÇ[Q¯x 700 A»SPÒ 

  ö\¨h®£º   &  20 ö£ØÓøÁ 400 A»SPÒ J¸ A»Qß 

Âø» ¹.14 

  ö\¨h®£º   &  25 ÁÇ[Q¯x 300 A»SPÒ 

  ö\¨h®£º   &  27 ö£ØÓøÁ 500 A»SPÒ J¸ A»Qß 

Âø» ¹.11 

  ö\¨h®£º   &  30 ÁÇ[Q¯x 200 A»SPÒ 

  GÎ¯ \μõ\› •øÓ ©ØÖ® Gøh²ÒÍ \μõ\› AhUP 

•øÓ°ß RÌ £shP ÷£÷μmøh u¯õ›UP. 

13. (a) Labour cost per man per day of 8 hours. From the 
following particulars ascertain labour cost per day 
of 8 hours 

(i) Basic Pay - Rs. 200 per month 

  (ii) Leave Pay-5% 

  Employer Contribution to provident fund 8% of  
(i) and (ii)  

  Employers contribution to E.S.I. -2.5% of (i) and (ii)  

  Pro rate amenities Rs. 17.95 per head per month  

  Working hours in a month-200hours. 
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  J¸ ©ÛuÝUS J¸ |õøÍUS 8 ©o÷|μ EøÇ¨¦ 

ö\»Ä. ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ |õøÍUS 8 

©o÷|μ öuõÈ»õÍº ö\»øÁU PshÔ¯Ä®. 

  (i) Ai¨£øh Fv¯®  & ¹.200 ©õuzvØS 

  (ii) Âk¨¦ \®£Í® & 5% I Âk[PÒ 

  Á¸[Põ» øÁ¨¦ {vUS •u»õÎ £[PÎ¨¦ 8% (i) 
©ØÖ® (ii). 

  E.S.I US •u»õÎ°ß £[PÎ¨¦ & 2.5% (i) ©ØÖ® (ii). 
  \õº¦ Ãu Á\vPÒ ¹.17.95 ©õuzvØS J¸ |£¸US 

  J¸ ©õuzvÀ  & 200 ©o÷|μzvÀ ÷Áø» ÷|μ®. 

Or 

 (b) Work out the machine hour rate of a saw mill from 
the following information of a wood working shop: 

  (i) Purchase price of the saw mill Rs. 90,000 

  (ii) Railway freight and installation charges 
Rs.100 

  (iii) Life of the saw mill is 10 years and 2000 
working hours per year. 

  (iv) Repair charges 50% of depreciation. 

  (v) Consumption of electric power 10 units per 
hour @70 paise per unit. Lubricating oil Rs.20 
per day of 8 hours. 

  (vi) Consumable stores 100 per day of 8 hours 

  (vii) Wages of machine operator Rs. 40 per day of  
8 hours 

  J¸ ©μ ÷Áø» ö\´²® Pøh°ß ¤ßÁ¸® 

uPÁÀPÎ¼¸¢x J¸ AÖUS® Bø»°ß C¯¢vμ 

©o÷|μ Ãuzøu u¯õ›UPÄ®. 

  (i) ©μ Bø» öPõÒ•uÀ Âø» ¹.90,000 

  (ii) μ°À \μUS ©ØÖ® {ÖÁÀ Pmhn® ¹.100 

  (iii) ©μ Bø» B²Ò 10 BskPÒ ©ØÖ® Á¸hzvØS 

2000 ÷Áø» ÷|μ® 

  (iv) £Êx£õºUS® Pmhn® 50% ÷u´©õÚ®. 
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  (v) ªß\õμ ~PºÄ J¸ ©o ÷|μzvØS 10 A»SPÒ @ 
J¸ ³ÛmkUS 70 ø£\õ. ©\S Gsön´ 8 ©o 

÷|μzvØS J¸ |õøÍUS ¹.20. 

  (vi) J¸ |õøÍUS 8©o÷|μzvØS 100 ~Pº÷Áõº 

PøhPÒ 

  (vii) C¯¢vμ B£÷μmh›ß Fv¯® 8 ©o ÷|μzvØS 

¹.40. 

14. (a) The following direct costs were incurred on Job No. 
565 of Standard Electricals Company 

 Rs. 

Materials 4,010 

Wages: Dept   A - 60 hours @ Rs.3 p.h  

                        B - 40 hours @ Rs.2 p.h  

                        C - 20 hours @ Rs. 5 p.h.  

  Overhead expenses for these three departments 
were estimated as follows: 

Variable overheads: Dept A Rs.5,000 for 5,000 labour hours

 B Rs. 3,000 for 1,500 labour hours

 C Rs. 2,000 for 500 labour hours 

  Fixed overheads: Estimated at Rs.20,000 for 10,000 
Normal working hours. You are required to 
calculate the cost of job No.565 and calculate the 
price to give profit of 25% on selling price. 

  ìhõshºm G»Um›PÀì {ÖÁÚzvß ÷Áø» Gs 565 

CÀ ¤ßÁ¸® ÷|μi ö\»ÄPÒ HØ£mhÚ. 

 ¹. 

\μUQ¸¨¦ 4,010

T¼ : xøÓ  A & 60 ©o÷|μ® ¹.3 J¸ ©o ÷|μzvØS  

                        B &- 40 ©o÷|μ® ¹.2 J¸ ©o ÷|μzvØS  

                        C &- 20 ©o÷|μ® ¹.5 J¸  ©o ÷|μzvØS  
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  C¢u ‰ßÖ xøÓPÐUPõÚ ÷©À{ø» ö\»ÄPÒ 

¤ßÁ¸©õÖ ©v¨¤h¨£mhÚ :  

  ©õÔ ÷©À{ø»PÒ 

xøÓ H ¹.5,000 EøÇ¨¦ ÷|μ[PÐUS 5,000 

 ¤ ¹.1,500 EøÇ¨¦ ÷|μ[PÐUS3,000 

 ] ¹.500 öuõÈ»õÍº ÷|μzvØS ¹.2,000

  {ø»¯õÚ ÷©À{ø»PÒ : 10,000 \õuõμn ÷Áø» 

÷|μ[PÐUS ¹,20,000 GÚ ©v¨¤h¨£mkÒÍx. 

ÂØ£øÚ Âø»°À 25% C»õ£zøu ÁÇ[P }[PÒ 

÷Áø» Gs 565 IU PnUQkP. 

Or 

 (b) Calculate the earnings of A and B under Taylors 

Differential piece Rate system Standard Time per 

unit – 12 minutes, Standard Rate per hour – Rs. 60, 

Differentials to be used 80% and 120%. In a 

particular day of 8 hours, Workers A and B 

produced 30 units and 50 units respectively.  

  öh´»›ß ©õÖ£õk® GsoUøP ÂQu •øÓ°ß RÌ 

öuõÈ»õÍºPÒ H ©ØÖ® ¤ BQ÷¯õ›ß Á¸©õÚ® 

PnUQkP. {ºn°zu ÷|μ® Kº A»QØS & 12 

{ªh[PÒ {ºn°zu Âø» Kº A»QØS & ¹.60 

£¯ß£kzu ÷Ási¯ ©õÖ£k® ÂQu® 80 \uÃu® 

©ØÖ® 120 \uÃu® 8 ©o ÷|μ® öPõsh J¸ 

SÔ¨¤mh |õÎÀ öuõÈ»õÍºPÒ H ©ØÖ® ¤ 

BQ÷¯õ›ß EØ£zv •øÓ÷¯ 30 A»SPÒ ©ØÖ® 50 

A»SPÒ. 
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15.  (a) A manufacturing company has two production 
Department namely A and B and C three Service 
Depts. Time keeping, stores and maintenance. 

 Production 
department 

Service Department 

 A B Time keeping 
S1 

Stores 
S2 

Maintenance 
S3 

Primary overhead 
summary 

20,000 30,000 4,000 3,000 2,000 

Other information S1 S2 S3 A B 

No. of Employees – 10 5 40 25 

No of stores 
requisition 

– – 4 16 15 

Machine hours – – – 3,000 2,300 

 An amount equal to 20% of the profit earned every year 
was transferred to the general reserve. It is considered 
reasonable in the business in which the company is 
engaged A 10% return on investment is considered 
reasonable by the industry. Compare the value of a 
company’s share by yield value and instrinsic value 
method.  

 J¸ EØ£zv {ÖÁÚzvÀ Cμsk EØ£zvz xøÓ H ©ØÖ® ¤ 

©ØÖ® ‰ßÖ ÷\øÁz xøÓPÒ ÷|μ® øÁzuÀ, PøhPÒ 

©ØÖ® £μõ©›¨¦ GÚ EÒÍÚ. 

 EØ£zvzxøÓ ÷\øÁzxøÓPÒ 

 A B ÷|μ® 

øÁzuÀ 

S1 

PøhPÒ

S2 
£μõ©›¨¦ 

S3 

•uÀ{ø» ÷©Ø£μ¨¦ ö\»¦ 

P¸UP® 

20,000 30,000 4,000 3,000 2,000 

¤Ó uPÁÀPÒ S1 S2 S3 A B 

÷Áø»¯õmPÎß GsoUøP – 10 5 40 25 

÷uøÁ¨£k® PøhPÎß 

GsoUøP 

– – 4 16 15 

C¯¢vμ ÷|μ® – – – 3,000 2,300 
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  JÆöÁõ¸ Bsk® Dmi¯ »õ£zvÀ 20% US \©©õÚ 

öuõøP ö£õx C¸¨¦US ©õØÓ¨£mhx. Cx {ÖÁÚ® 

Dk£mkÒÍ öuõÈ¼À {¯õ¯©õÚuõPU P¸u¨£kQÓx. 

•u½miÀ 10% Á¸©õÚ® öuõÈÀxøÓ°À 

{¯õ¯©õÚuõPU P¸u¨£kQÓx. ÂøÍa\À •øÓ 

©ØÖ® EÒÍõº¢u ©v¨¦ •øÓ ‰»® {ÖÁÚzvß 

£[Qß ©v¨ø£ J¨¤kP. 

Or 

 (b) Input 100 units of Rs.1000; Normal loss 10% scrap 
Rs.100 Actual output 87 units Calculate Abnormal  
loss. 

  EÒÏk 100 ³ÛmUS ¹.1,000; \õuõμn CÇ¨¦ 10% 

Gg]¯ ©v¨¦ ¹.100 Esø©¯õÚ öÁÎ±k 87 

A»SPÒ A\õuõμn CÇ¨ø£U PnUQkP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following is the record of receipts and issues of a 
certain material in a factory during a month. March 2015 

1 Opening stock 5000 units@ Rs.10 per unit 

5 Issued 3000 units 

7 Received 6000 units@ Rs.10.2 per unit 

15 Issue 2500 units  
(stock verification reveals loss of 100 units)

16 Received back from orders 1000 units 
 (previously issued at Rs.9.15 per unit) 

17 Issued 4000 Units 

25 Received 2200 units @ Rs.10.30 per unit 

27 Issued 3800 units 

 At what price will you issue the materials according to 

FIFO and LIFO methods using Perpetual inventory 

system? 
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 ©õºa 2015 ©õuzvÀ J¸ öuõÈØ\õø»°À J¸ SÔ¨¤mh 

ö£õ¸Îß ö£ÖuÀ ©ØÖ® ö\¾zxuÀPÎß £vÄ 

¤ßÁ¸©õÖ. 

÷uv 1 öuõhUPa\μUQ¸¨£ 5000 A»SPÒ  

¹.10 J¸ A»S 

 5 ÁÇ[Q¯x 3000 A»SPÒ  

 7 ö£ÖuÀPÒ 6000 A»SPÒ ¹.10.2 J¸ A»S 

 15 ÁÇ[Q¯x 2500 A»SPÒ 

 (\μUQ¸¨ø£ \›£õº¤À 100 A»SPÎß 

CÇ¨ø£ öÁÎ¨£kzxQÓx) 

 16 BønPÒ 1000 ³ÛmkPÎ¼¸¢x  

v¸®£¨ ö£Ó¨£mhx (•ß¦ J¸ A»SUS ¹ 

9.15 GÚ ÁÇ[P¨£mhx) 

 17 ÁÇ[Q¯x 4000 A»SPÒ  

 25 J¸ A»SPÒ 2200 A»S ¹.10.30 ö£ØÓx 

 27 3800 A»SPÒ ÁÇ[P¨£mhÚ 

 {μ¢uμ \μUS •øÓø¯¨ £¯ß£kzv FIFO ©ØÖ® LIFO 

•øÓPÎß £i G¢u Âø»°À ö£õ¸mPøÍ 

öÁÎ°kÃºPÒ? 

17. “Cost accounting is a tool of managerial planning and 

control”. Explain the statement. 

 “AhUPÂø»U PnUQ¯À Gß£x {ºÁõP vmhªhÀ ©ØÖ® 

Pmk¨£õmk P¸Â¯õS® ”. C¢u £uzøu ÂÍUSP. 
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18. The following particulars relate to processing machine 
treating a typical material 

 Cost of machine Rs.10000 

 Estimated life 10 yrs 

 Scrap value Rs.1000 

 Yearly working time (50 weeks of 44 hours each) 2200 hrs 

 Machine maintenance 200 hrs pa. 

 Setting up time estimated at 5% of total productive time 
and is regarded as productive time 

 Electricity is 16 units per hr at 10 paise per unit 

 Chemical required weekly Rs.20 

 Maintenance cost per year Rs.1200 

 Two attendants control the operations of machine 
together with six other machines. Their combined weekly 
wages are Rs.140 

 Departmental overhead allocated to this machine per 
annum Rs.2000. 

 Calculate Machine Hour Rate. 

 ¤ßÁ¸® ÂÁμ[PÒ J¸ ö£õxÁõÚ ö£õ¸øÍU øP¯õÐ® 

ö\¯»õUP C¯¢vμzxhß öuõhº¦øh¯øÁ 

 C¯¢vμzvß Âø» ¹.10,000 

 C¯¢vμzvß ©v¨¤h¨£mh ÁõÌUøP 10 BskPÒ 

 Gg]¯ ©v¨¦ ¹.1,000 

 Bsk ÷Áø» ÷|μ® (50 Áõμ[PÒ u»õ 44 ©o÷|μ®)  

2200 ©o ÷|μ® 

 C¯¢vμ £μõ©›¨¦ BskUS 200 ©o ÷|μ® 

 ö©õzu EØ£zv ÷|μzvß 5% GÚ ©v¨¤h¨£mh ÷|μzøu 

Aø©zuÀ ©ØÖ® EØ£zv ÷|μ©õP P¸u¨£kQÓx 
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 ªß\õμ® 16 ³ÛmkPÒ J¸ ©o ÷|μzvØS 10 ø£\õ J¸ 

³ÛmkUS 

 Cμ\õ¯Ú Áõμõ¢vμ ÷uøÁ 20 ÷uøÁ 

 BskUS £μõ©›¨¦ ö\»Ä ¹.1,200 

 Cμsk EuÂ¯õÍºPÒ BÖ C¯Øvμ[PÐhß ÷\º¢x 

C¯¢vμzvß ö\¯À£õmøhU Pmk¨£kzxQßÓÚº. 

AÁºPÎß J¸[Qøn¢u Áõμ Fv¯® ¹.140 BS®. 

 C¢u C¯¢vμzvØS JxUP¨£mh BskUS xøÓ ÷©Ø£μ¨¦ 

ö\»Ä ¹.2,000 

 C¯¢vμ ÷|μ ÃuzøuU PnUQkP. 

19. A company has three production departments and two 
service departments and for a period the departmental 
distribution summary has the following totals: 

 Production Departments :     Rs. 

 X Rs. 1,000    

 Y Rs. 900 

 Z Rs. 600      2,500 

 Service Departments : 

 A  Rs. 200 

 B Rs. 150     350 

 Total     2,850 

 The expenses of service departments are charged out on a 
percentage basis as given below : 

 X Y Z A B 

Service Dept. A 20% 40% 30% – 10%

Service Dept. B 30% 20% 30% 20% – 
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 Prepare a statement showing the apportionment of two 
service department expenses to production departments 
under Repeated distributed Method and Simulation 
Equation Method 

J¸ {ÖÁÚzvÀ ‰ßÖ EØ£zvz xøÓPÒ ©ØÖ® Cμsk 

÷\øÁz xøÓPÒ  EÒÍÚ. ÷©¾® J¸ Põ»zvØS xøÓ\õº¢u 

Â{÷¯õP _¸UP® ¤ßÁ¸® ö©õzu[PøÍU öPõskÒÍx. 

 EØ£zv xøÓPÒ :         ¹. 

 X ¹. 1,000    

 Y ¹. 900 

 Z ¹. 600      2,500 

 ÷\øÁzxøÓPÒ : 

 A  ¹. 200 

 B ¹. 150     350 

 ö©õzu®    2,850 

 ÷\øÁz xøÓPÎß ö\»ÄPÒ ¤ßÁ¸©õÖ \uÃu® 

Ai¨£øh°À Á`¼UP¨£kQßÓÚ : 

 X Y Z A B 

÷\øÁz xøÓ A 20% 40% 30% – 10%

÷\øÁz xøÓ B 30% 20% 30% 20% – 

 «sk® «sk® Â{÷¯õQUP¨£mh •øÓ ©ØÖ® 

E¸ÁP¨£kzxuÀ \©ß£õk •øÓ°ß RÌ EØ£zvz 

xøÓPÐUS Cμsk ÷\øÁz xøÓ ö\»ÄPÒ 

JxUP£kÁøuU Põmk® AÔUøPø¯z u¯õ›UPÄ®. 
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20. During the month 8000 units were introduced in process 
X, the cost per unit being Rs. 25.Labour and production 
overheads are Rs.39000 and Rs.78000, respectively. 
Opening stock of work in progress in the process was 
2000 units. The costs were: 

 Materials Rs.15,000 (100% complete) 

 Labour Rs.1,500 (60% complete) 

 Overheads Rs.3,000(60% complete) 

 At the end of the period there were 2000 units in process. 
Stage of completion was estimated as 100% for material 
and 50% for both labour and overhead costs. Assuming 
FIFO method, you are required to prepare: 

 (a) Statement of equivalent production 
 (b) Statement of cost per unit 
 (c) Statement of evaluation, and Process X account 

 £i{ø» X ©õuzvØS 8000 A»SPÒ 

AÔ•P¨£kzu¨£mhÚ, J¸ ³ÛmkUPõÚ Âø» ¹.25 

BS®. öuõÈ»õÍº ©ØÖ® EØ£zv ÷©À{ø»PÒ •øÓ÷¯ 

¹.39,000 ©ØÖ® ¹.78,000 BS®. ö\¯À£õmiÀ 

•ß÷ÚõØÓ® Põq® £oPÒ 2000 A»SPÒ. ö\»ÄPÒ : 

 \μUSPÒ ¹.15,000 (100% •i¢ux) 

 öuõÈ»õÍº ¹.1,500 (60% •i¢ux) 

 ÷©À{ø»PÒ ö\»ÄPÒ ¹.3,000 (60% •i¢ux) 

 Põ»Pmhzvß •iÂÀ 2000 A»SPÒ ö\¯À£õmiÀ 

C¸¢uÚ. {øÓÄ {ø» 100% \μUSPÒ ©ØÖ® 50% EøÇ¨¦ 

©ØÖ® ÷©À{ø» ö\»ÄPÒ GÚ ©v¨¤h¨£mhx.  

FIFO •øÓø¯ AÝ©õÛzx. }[PÒ u¯õº ö\´¯ ÷Ásk® : 

 (A) \©©õÚ EØ£zv°ß AÔUøP 

 (B) J¸ ³ÛmiØPõÚ ö\»Ä AÔUøP 

 (C) ©v¨¥mk AÔUøP ©ØÖ® ö\¯À•øÓ × PnUS 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define a worker as per factories act 1948. 

 öuõÈ»P[PÒ \mh® 1948ß £i öuõÈ»õÍº C»UPn® 
u¸P.  

2. State any two objectives of Labour legislation.  

 öuõÈ»õÍº \mhzvß Cμsk SÔU÷PõÒPøÍ TÖP.  

3. What is the reason for enacting workmen’s compensation 
Act, 1923?  

 öuõÈ»õÍº CÇ¨¥k \mh® 1923 E¸ÁõP Põμn® GßÚ? 

4. What is not included in wages under ESI Act?  

 öuõÈ»õÍº ©õ{» Põ¨¥mka \mhzvß RÌ T¼÷¯õk 
CønUP¨£hõuøÁ GøÁ? 

5. Define wages as per payment of wages Act 1936. 

 ö\¾zx T¼ \mh® 1936ß RÌ T¼ Gß£øu Áøμ¯Ö.  
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6. Who are all eligible for getting bonus as per bonus act 
1965? 

 FUP Fv¯® \mhzvß 1965 £i FUP Fv¯® ö£Ó 

uSv¯õÚÁºPÒ ¯õº? 

7. Define contribution.  

 £[PÎ¨¦ GßÓ ö£õ¸øÍ Áøμ¯Ö. 

8. What do you mean by Gratuity? 

 £oUöPõøh GßÓõÀ GßÚ? 

9. Quote the meaning of Industrial Dispute.  

 öuõÈØxøÓ uPμõÖ GßÓ ö\õÀ¼ß ö£õ¸øÍ u¸P.  

10. State the acts which do not apply to registered trade 
unions.  

 £vÄ ö\´¯¨£mh öuõÈØ\[P[PÎß ö\¯À¨£õmkUS 

Áμõu \mh[PÒ ¯õøÁ GÚ TÖ.  

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) State the principles of labour legislation.  

  öuõÈ»õÍº \mhzvß öPõÒøPPøÍ TÖP.  

Or 

 (b) Explain the provisions of the factories act 1948 
regarding the health of the worker.  

  öuõÈ»P[PÒ \mh® 1948ß £i öuõÈ»õÍºPÍx 

EhÀ |»® öuõhº£õÚ \mh ÂvPøÍ ÂÁ›.  
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12. (a) Describe the provisions of the workmen’s 
compensation act relating to distribution of 
compensation.  

  öuõÈ»õÍº CÇ¨¥mka \mhzvß£i CÇ¨¥k 

ÁÇ[SuÀ SÔzu \mh Âv•øÓPøÍ ÂÍUSP. 

Or 

 (b) What are the functions of Employees State 
Insurance Corporation?  

  öuõÈ»õÍº ©õ{» Põ¨¥mkU PÇPzvß £oPÒ 

¯õøÁ? 

13. (a) Discuss the safeguards in payment of minimum 
wages.  

  SøÓ¢u£m\U T¼ ÁÇ[Su¼À EÒÍ £õxPõ¨¦ 

SÔzx ÂÁ›.  

Or 

 (b) When an employee is disqualified from receiving 
bonus?  

  J¸ öuõÈ»õÎ G¨ö£õÊx ÷©¿v¯® ö£Ó 

uSv¯ØÓÁμõQßÓõº? 

14. (a) What are the powers of inspector under the EPF 
act?  

  öuõÈ»õÍº ÷\© |» {v [EPF] \mhzvÀ B´ÁõÍ›ß 

AvPõμ[PÒ ¯õøÁ? 

Or 

 (b) When does an employee forfeit his right to gratuity?  

  £oUöPõøh ö£Ö® uSv°øÚ J¸ öuõÈ»õÎ 

G¨ö£õÊx CÇUQÓõº.  
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15.  (a) Under what circumstances the lockout is 
prohibited?  

  G¢öu¢u `Ì{ø»PÎÀ PuÁøh¨¦ uøh 
ö\´¯¨£mi¸UQßÓx? 

Or 

 (b) What are the situation for cancellation of 
registration of trade union?  

  J¸ öuõÈØ\[Pzvß £vÂøÚ μzx ö\´¯UTi¯ 
`ÇÀPÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the provisions relating to employment of woman 
worker.  

 ö£s öuõÈ»õÍºPøÍ¨ £o¯©ºzxÁx öuõhº£õP EÒÍ 
\mh ÂvPÒ ¯õøÁ? 

17. Explain the various benefits available under ESI act.  
 öuõÈ»õÍº ©õ{»U Põ¨¥mka \mhzvß RÌ ÁÇ[P¨£k® 

£ÀÁøP £¯ßPøÍ ÂÁ›.  

18. Explain the procedure for fixing and revising of minimum 
wages.  

 SøÓ¢u£m\U T¼ {ºn°¨£x ©ØÖ® ©Ö{ºn¯® ö\´Áx 
öuõhº£õÚ |øh•øÓPøÍ ÂÁ›.  

19. Discuss the rules as to payment and recovery of 
employees provident fund contribution by an employer.  

 öuõÈ»õÍº ÷\© |» {vUS •u»õÎ°ß £[QøÚ ö\¾zu 
©ØÖ® ö£ÖÁuØPõÚ \mh ÂvPøÍ ÂÁ›.  

20. State the duties and responsibilities of a registered trade 
union.  

 J¸ £vÄ ö\´¯¨£mh öuõÈØ\[Pzvß Phø©PÒ ©ØÖ® 
ö£õÖ¨¦PÒ ¯õöuÚ TÖ.  
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is commercial paper? 

 ÁoPz uõÒ GßÓõÀ GßÚ? 

2. Expand OTCEI. 

 OTCEI ÂÁ›UP. 

3. What is commercial bank? 

 ÁoP Á[Q GßÓõÀ GßÚ? 

4. What is Hire Purchase? 

 ÁõhøP öPõÒ•uÀ GßÓõÀ GßÚ? 

5. What is close ended fund? 

 •iÄØÓ {v GßÓõÀ GßÚ? 
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6. What is balanced fund? 

 \©¨£kzu¨£mh {v GßÓõÀ GßÚ? 

7. What is recourse factoring? 

 Buõº Põμo£kzuÀ GßÓõÀ GßÚ? 

8. What is consumer finance? 

 ÁõiUøP¯õÍº {v GßÓõÀ GßÚ? 

9. Define Merchant Banking. 

 ÁoP Á[Q – Áøμ¯Ö. 

10. What is credit rating? 

 Phß ©v¨¥k GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) What are the functions of financial market? 

  {va \¢øu°ß ö\¯À£õkPÒ ¯õøÁ? 

Or 

 (b) Write out the features of money market. 

  £na \¢øu°ß A®\[PÒ GÊxP. 

12. (a) What is the main purpose of Commercial Bank? 

  ÁoP Á[Q°ß •UQ¯ ÷|õUP® GßÚ? 

Or 

 (b) Write out the common features of Hire Purchase 
financing. 

  ÁõhøP öPõÒ•uÀ {v •øÓ°ß ö£õx¨ 
£¯ß£õkPøÍ GÊxP. 
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13. (a) What are the points to be consider at the time of 
choosing AMC? 

  ö\õzx ÷©»õsø© {ÖÁÚzøu ÷uºÄ ö\´²® 
÷£õx P¸zvÀ öPõÒÍ ÷Ási¯øÁ ¯õøÁ? 

Or 

 (b) What are the features of mutual funds? 

  £μì£μ {v°ß ]Ó¨£®\[PÒ ¯õøÁ? 

14. (a) Write out the merits of factoring. 

  Põμo£kzu¼ß |ßø©PøÍ GÊxP. 

Or 

 (b) What are the salient features of consumer finance? 

  ~Pº÷Áõº {v°ß •UQ¯ A®\[PÒ ¯õøÁ? 

15.  (a) What are the functions of Merchant Banker? 

  ÁoP Á[Q¯õÍ›ß £oPÒ ¯õøÁ? 

Or 

 (b) List out the credit rating agencies in India. 

  C¢v¯õÂÀ EÒÍ Phß ©v¨¥mk {ÖÁÚ[PøÍ 
£mi¯¼kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write out the different types of financial services offered 
in India. 

 C¢v¯õÂÀ ÁÇ[P¨£k® £À÷ÁÖ ÁøP¯õÚ {va 
÷\øÁPÒ SÔzx GÊxP. 
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17. Write out the functions of commercial bank. 

 ÁoP Á[Q°ß ö\¯À£õkPøÍ GÊxP. 

18. How does an AMC manage funds? 

 ö\õzx ÷©»õsø© {ÖÁÚ® {vPøÍ GÆÁõÖ 
{ºÁQUQÓx? 

19. Write out the types of factoring in detail. 

 PõμoPÎß ÁøPPøÍ Â›ÁõP GÊxP. 

20. What are the important functions of credit rating agency? 

 Phß ©v¨¥mk {ÖÁÚzvß •UQ¯ £oPÒ ¯õøÁ? 

———————— 


